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1. Introduction

1.1 Background
The reason why this problem has been selected

The Netherlands is a three tier decentralized unitary state. The highest tier is the national government. Provinces and municipalities are the second and third tier. The national government has a number of tasks transferred to the municipal and to the provincial government. The focus in the Netherlands however is on the national government and the power of provinces and municipalities is secondary to the power of the national government. Provinces and municipalities need to comply with the national policy and can only decide their own policies when these subjects are just only concerned the province or the municipality.

In this, three tier system different accounting systems exist. Municipalities and provinces have 30 years ago changed to an accrual-based accounting system while the national government still uses a cash/commitment accounting system. Next to that, the national government has created the so-called agencies that are part of a ministry but act on accrual-based principles. The results of these agencies are an integral part of a ministry’s annual report. Problems arise when the accrual-based results of the agencies have to be aggregated in the cash/commitments based results of the government.

In 2001, the former Dutch Minister of Finance, Gerrit Zalm, announced to introduce a system of accrual accounting in the entire national government
. The aim of this change in the accounting system was to realize that the government accounting was more efficient and more effective. In the 1990’s some other countries (New Zealand, France, etc.) shifted to the use of accrual accounting and the Netherlands wanted to follow these examples.

Internationally, the use of accrual accounting by the government receives attention. Besides, in New Zealand and in Australia, the national government in the United Kingdom introduces an integral accruals based system. In the United Kingdom, the use of accrual accounting is introduced in combination with the so-called Public Service Agreements (PSA) in which ministers and Parliament agree on policies to achieve objectives. These PSA's have a clear relationship with the developments in the Netherlands ”Van Beleidsbegroting Tot Beleidsverantwoording (VBTB)”
. In addition, in Belgium and in France the use of accrual accounting is the subject of debates.

The World Bank and the International Monetary Fund show – based on the intention of improving the transparency and the good governance – an increasing focus on the use of accrual-based accounting.

The relevancy of this problem within Accounting Auditing and Control (AA&C)
Within the current national budget system - the cash/commitment accounting - the budget and the accountability only focuses on the year in which a cash-effect occurs. Consequently, the budget is focusing on the year that the actual cash expenditure occurs. To illustrate, the next example is useful in a given year investment exists of €100, and capital goods are five years in use, only in the first year the budget is debited. In that year the budget is charged for €100 and in the other four years the budget contains an amount of € 0. Within the accrual accounting depreciation, this payment is an expense with a multi-annual utility. The spread will be charged to the budget in those years where the investment leads to use. In the example, a total spending of €100 exists for an asset that is in use five years. In each of the five years, an amount of €20 will amortized. This results in an accrual and a better understanding of the annual cost of the policy.

The benefits of accruals relative to the current cash/commitments system are a full cost approach, connection with the environment, such as industry, and an improved balance between the investment and the operating expenses. The main advantage is that within an accrual-based system the full cost of an investment and all the trade-offs involved will be taken into account. Currently, for the future costs (maintenance and replacement) balancing the budget process creates insufficient incentive. Because the total cost (the so-called life cycle costs, both the construction and the acquisition and the replacement and the maintenance) in the estimates and in the trade-offs is included, these incentive arises. This improves the understanding of the effectiveness of the government spending. A situation in which the benefits are clearly visualized is the construction of infrastructure projects. Currently, in the decision processes only the cost of the construction is considered. This promotes the possibility of the so-called "camel Noses
 "and the inferior construction of the infrastructural projects. Additionally, the availability of cost per product or service creates the possibility of client-contractor relationships. In addition, interest, maintenance, and depreciation costs may be calculated, allowing a more efficient capital stock to be conducted. More generally, this second advantage will realize by the influence of the VBTB operation in which in more and more performances the full costs will be visualized.
The introduction of the accrual accounting system causes increasing information for the "make or do yourself" versus the outsourcing question. Because the government in that case speaks the "same language" as the business, it promotes the conversion of the expenditure to the cost considerations under PPS5 
 constructions and competitive services. Inefficient financing arrangements will be quickly discovered.

The third benefit of the use of accrual accounting is that less of a risk exists that in times of tight budgets, investment are repressed in favour of the current expenditures. Within accrual accounting, allocation is better because in the case of deflections postponements or adjustments in an investment project lead to a much lesser extent to budget space. This is realised because the investment is not charged to the budget in one sum, but in the form of costs divided over its lifetime.
A fourth benefit is that matching central government accounting to the system already used by the municipalities and the provinces will lead to great efficiency advantage and to better coherent information.

1.2 Objectives

The topic of ‘the usefulness of financial statement information’ can be viewed from different perspectives. The main point of view is the value relevance of the information provided. What is the benefit of the published particular information? In this research, the focus is on the information perspective. Consequently, for this perspective some examples on this subject will be presented in more detail.
Deegan and Unerman in their book ‘Financial Accounting Theory’ (McGrawHill,

2006, p. 410) state:

“Under the IASB framework, information is regarded as relevant if it:

Influences the economic decisions of users by helping them evaluate the past, present or future events or conforming, or correcting, their past evaluation” (paragraph 26).

For relevance, information needs to be relevant, two main aspects should exist predictive value and feedback (or confirmatory) value, the latter referring to the information’s utility in confirming or correcting earlier expectations.

The definition, in this research will use, is presented by Scott in his book the ‘Financial Accounting Theory’ (Prentice Hall, 2005, p 83):

‘Information is useful if it’s leads investors to change their beliefs and actions.’

In this research, the Dutch Parliament can be qualified as the investor. The Dutch Parliament decides in which way the available money need to be spent and whether the last year’s money was spending efficient and effective. By investigating whether changing the administrative system of the Dutch government from the cash-budget accounting to the accrual accounting causes a different decision process by the Dutch Parliament, this research will adopt Scott’s definition.
1.3 Problem definition 
This research will investigate in which way changing from a cash/commitment accounting system to an accrual based accounting system might affect the decisions by the Dutch Lower House of Parliament. By investigating the Dutch current accounting system and the radical changes, other countries in their accounting system already have conducted this research intent to answer several questions. The main research question is:

What will be the effect of changing from a cash/commitment oriented accounting system to an accrual based accounting system on the decisions by the Dutch Lower House of Parliament?

To be able to answer this research question based on published articles for this subject by other researchers and by the content of the law and regulations, some sub- questions need to be answer. For this research, this provides a starting point. The sub questions that need to be answered are:

1. What is the theory behind the external financial accounting?
2. What is the content of the term cash/commitment oriented accounting?
3. What is the content of accrual-based accounting?
4. What are the advantages and the disadvantages of the accrual-based accounting system?
5. What are the experiences of other countries that already have executed the transition from a cash based systems to an accrual-based system?
6. What is the explanation of the consideration of the Dutch government to change their accounting system?

In order to answer the research question for the experimental part of the research the next sub questions have been formulated:
7. What does a participant decide based on the annual statement by cash/commitment accounting?
8. What does a participant decide based on an annual statement by accrual-based accounting?
1.4 Demarcation of the research area
After studying the two annual financial statements of the he Dutch Ministry of Agriculture, Nature and Food Quality (LNV) this research will measure the differences between the decisions based on the cash/committed and the decisions based on the accrual accounting by the members of Dutch Parliament and their staff. In a pilot, the Dutch Ministry of Finance produced these annual financial statements. The participants in this research will be asked to answer a number of (multiple-choice) questions.

By analyzing the answers of the participants, after studying the annual statement based on the cash-commitment system and a statement based on the accrual accounting system, it is possible to either accept or reject the stated hypothesizes.

The research will be conducted amongst participants involved in the decision process of the Dutch Lower House of Parliament members. This group consists of the members of the Dutch Parliament as well as their supporting staff. The Dutch Lower House of Parliament consists of 150 members representing 10 parties. Estimated is that the supporting staff consists of two persons per member of the Parliament. The total research population is then 450 persons. In order to be able to express an opinion, the sample size is decreased to 100 persons.
In the research only the research questions will be answered, no other conclusions will be presented.

1.5 Methodology

This paragraph contains the for this research relevant research methods. To be able to answer the sub-questions the identification of the relevant research methods will be presented.
Sub-questions 1 to 4 will be answered based on the literature study. Based on the findings, the relevant theories behind accrual-based accounting and behind cash commitment accounting will be explained.

In addition, this research comments the experiences of other countries that already have transferred from a cash-based system to an accrual-based system. For this research, based on the literature study, the experience, the advantage, and the disadvantage of several countries will be commented.

In order to answer the research question based on the literature study a case study will perform.
This research will be focused on a sample of the members of Dutch Lower House of Parliament and their supporting staff. This approach would like to present them two situations of the annual statements, one based on an accrual accounting system and one based on the cash oriented accounting system. Based on these situations an opinion can presented if their decisions are different. 
1.6 Structure

Chapter two will focus on the theory behind external financial accounting. Several theories will be presented. Chapter 3 describes the content of cash/committed oriented accounting and the content of the accrual-based accounting. In addition, the difference between those accounting systems and the advantage and the disadvantage of these systems will be presented.
Chapter 4 contains the available research on the experience of other countries that already changed from a cash based system to an accrual-based system and the advantage and the disadvantage of this change will presented.

In chapter 5, the available prior research on this subject will be commented.

Chapter 6 presents the research design.
Chapter 7 contains the results of the performed experimental part of this research.

Chapter 8 contains the main conclusion, the limitations, and the recommendations for further research.
2. Theory behind external accounting

As stated in paragraph 1.2 the main point of view of the usefulness of financial statement information is the value relevance of the provided information. Some theories about this subject have been communicated by Deegan, Unerman, and Scott. In this chapter, the focus will be more on the theory behind external financial accounting. In this chapter several theories will be presented and at the end will be signalled, which theory for the research suits the most. Many theories about external financial accounting, but in this research the focus is only on the theories stated in this chapter.
2.1 Stakeholders theory 

The stakeholder theory is a theory of organizational management and business ethics that addresses morals and values in managing an organization. It was originally detailed by R. Edward Freeman in the book Strategic Management: A Stakeholder Approach, and identifies and models the groups which are stakeholders of a corporation, and both describes and recommends methods by which management can give due regard to the interests of those groups. In short, it attempts to address the "Principle of Who or What Really Counts”.

In the traditional view of the firm, the shareholders view (the only one recognized in business law in most countries), the shareholders or stockholders are the owners of the company, and to increase value for them the firm has a binding fiduciary duty to put their needs first. In older input-output models of corporations, the firm converts the input of investors, employees, and suppliers into usable (suitable) outputs which customers buy, thereby returning some capital benefit to the firm. By this model, firms only address the needs and the wishes of those four parties: investors, employees, suppliers, and customers. However, the stakeholder theory argues that other parties are involved, including governmental bodies, political groups, trade associations, trade unions, communities, associated corporations, prospective employees, prospective customers, and the public at large. Sometimes even competitors are counted as stakeholders.

2.2 Agency theory

In economics, the principal-agent problem treats that when a principal hires an agent, difficulties arise under conditions of incomplete and asymmetric information. Various mechanisms may be used to try to align the interests of the agent with those of the principal, such as piece rates/commissions, profit sharing, efficiency wages, the agent posting a bond, or fear of firing. The principal-agent problem is found in most employer/employee relationships, for example, when stockholders hire top executives of corporations.

The agency theory is directed at the ubiquitous agency relationship, in which one party (the principal) delegates work to another (the agent), who performs that work. The agency theory is concerned with resolving two problems that can occur in agency relationships. The first is the agency problem that arises when (a) the desires or goals of the principal and agent conflict and (b) it is difficult or expensive for the principle to verify what the agent actually is performing. The problem is that the principal cannot verify that the agent has behaved appropriately. The second is the problem of risk sharing that arises when the principal and the agent have different attitudes towards risk. The problem is that because of the different risk preferences the principle and the agent may prefer different actions (Brandeset al., 2006). 

Particularly in larger companies, a separation exists between the management of the venture (the agent) and the owners (the shareholders, the principal). Managers do not always have the same interests as the shareholders; consequently, all kinds of conflicts can arise. To motivate management nevertheless to aim its activities as much as possible at maximizing the shareholder value stock options are awarded. Favourably these stock options are only profitable for the receiving party as long as the value of the shares increases, this way the interests of both the shareholder and the management are united.

2.3 Positive accounting theory

The discussion about management decisions is a great opportunity to introduce the positive accounting theory (PAT). Scott in his book: Financial Accounting Theory presents the next definition of PAT (page 284): 
“The positive accounting theory is concerned with predicting the choices of accounting policies by firm managers and how managers will respond to proposed new accounting standards”.

Watts and Zimmerman with their article “Towards a Positive Theory of The Determination of Accounting Standards” (1978) provide the beginnings of a positive theory of accounting. In their article, the authors seek to develop a positive theory of the determination of accounting standards. According to them “such a theory will help us to understand better the source of the pressures driving the accounting standard-setting process, the effects of various accounting standards on different groups of individual and the allocation of resources, and why various groups are willing to expend resources trying to affect the standard setting process” (Watts, Zimmerman, 1978: 112). Watts and Zimmerman believe management plays a central role in the determination of the use of accounting standards, supported by Moonitz (Moonitz, 1974). Consequently, understanding management’s incentives is a condition of a positive theory of standard setting.

Watts and Zimmerman state in a “positive accounting theory: a ten year perspective” (1990) that most accounting choice studies use combinations of three sets of variables: “variables representing the manager’s incentives to choose accounting methods under bonus plans, debt contracts, and the political process” (Watts, Zimmerman, 1990: 138). These variables have created three hypotheses for the choice of accounting policies by firm managers:

The political cost hypothesis: 
“The political cost hypothesis predicts that large firms rather than small firms are more likely to use accounting choices that reduce the reported profits. Size is a proxy variable for political attention. Underlying this hypothesis is the assumption that it is costly for individuals to become informed about whether accounting profits represent monopoly profits and to “contract” with other in the political process to enact laws and regulations that enhance welfare. Consequently, rational individuals are less than fully informed. The political process is no different from the market process in that respect. Given the cost of information and monitoring, managers have incentive to exercise discretion over accounting profits and the parties in the political process settle for a rational amount of ex post opportunism” (Watts, Zimmerman, 1990:138).

2.4 Behavioural accounting method

The behavioural accounting method takes into account key decisions that managers make as part of their final decision. This approach answers in which way managers respond for example to a changing accounting regime using social cognitive and emotional factors (Hogarth & Reder, 1987). This is performed to understand better the impact that business processes, opinions and human variables have on the value of the Overall Corporation, now and in the future (Beattie, Goodacre & Thomson, 2006). 

2.5 Market-based method

The market-based accounting method examines the relation between the accounting numbers and the capital market. Two examples of market-based accounting research are (1) an event study (measuring information content) and (2) an association study (measuring value relevance). An event study consists of measurements of different developments in time with the same measure instrument. To evaluate in which way accounting information maps into contemporaneous market prices, an association study uses regressions of stock prices on accounting variables.
2.6 The stewardship theory (Donaldson)

Lex Donaldson and James H. Davis believe in their Article (1991, page 51) that “the stewardship theory holds that there none inherent, general problem of executive motivation is”. The manager behind this theory wants to be a good manager and thereby a good steward of the corporate assets. A so-called manager however has a problem with its staff department if a lack exists in their motivation, because the question is in which way the employees can reach the good collective performances the management strives nasty too. Consequently, the current situation of the employees and in which way the staffs handling in this situation will influence the performance. The performance variations can be influenced by establishing effective action what simplifies the work for the employees.

In addition, Lex Donaldson and James H. Davis communicate in their article the following. “Stewardship theory focuses not on motivation of the CEO but rather facilitative, empowering structures, and holds that fusion of the incumbency of the roles of chair and CEO will enhance effectiveness and produce, as a result, superior returns to shareholders than separation of the roles of chair and CEO”. What they meant by this is that the organisation enjoys benefits if it is an entity of direction and a strong command and enjoy a level of control. Consequently, creates good targeting to the employees and in this way the performance direction can be influenced.

2.7 The efficient market hypotheses

Beyond the normal utility maximizing agents, the efficient-market hypothesis requires that agents have a rational expectation: that on average the population is correct (even if no one person is) and whenever new relevant information appears, the agents update their expectations appropriately. Note that it is not required that the agents be rational. EMH allows that when faced with new information, some investors may overreact and some may under react. All that is required by the EMH is that investors' reactions be random and follow a normal distribution pattern so that the net effect on market prices cannot be reliably exploited to make an abnormal profit, especially when considering transaction costs (including commissions and spreads). Thus, any one person can be wrong about the market—indeed, everyone can be—but the market as a whole is always right. Three common forms exist in which the efficient-market hypothesis is commonly stated—weak form efficiency, semi-strong-form efficiency and strong-form efficiency, each of which has different implications for how markets work.

2.8 Summary

In this chapter, some theories have presented behind external accounting.
· The stakeholder theory is a theory of organizational management and business ethics that addresses morals and values in managing an organization. Besides the 4 categories of investors, employees, suppliers, and customers the stakeholder theory argues that other parties are involved, including governmental bodies, political groups, trade associations, trade unions, communities, associated corporations, prospective employees, prospective customers, and the public at large. 

· The agency theory is concerned with resolving two problems that can occur in agency relationships. Particularly in larger companies, a separation exists between the management of the venture (the agent) and the owners (the shareholders, the principal).

· The positive accounting theory concerns predicting by firm managers the choices of accounting policies, and in which managers will respond to proposed new accounting standards.
· The behavioural accounting approach answers in which way managers’ respond for example a changing accounting regime using social cognitive and emotional factors.
· The market-based accounting method examines the relation between the accounting numbers and the capital market.
· The stewardship theory holds that there are none inherent, general problem of executive motivation. Consequently, if the management holds a strong command over his employees, he will be able to get variations in the performance.
· EMH allows that when faced with new information, some investors may overreact and some may under react.

Before can decided which theory in this research could be used, has to be determine what theory already is been used in prior research for this subject. Consequently, in chapter 4, some articles about the reforming in Australia that already took place, will be communicated and in chapter 5 more scientific literature will be presented about the subject in general and in the Netherlands.

After the prior research chapters there can be decided, which theory is the most suitable for the survey questions, which will be developed in chapter 6.

3. The content of cash/committed oriented accounting and of accrual based accounting

3.1 Cash/committed oriented accounting

Cash based accounting refers to the method used to report earnings and income over the fiscal accounting reporting period. What is for financial accounting the content of the term “cash” basis? Cash-based accounting implies that sales are recorded when the money is received, and expenses are recorded when they are actually paid.
In order to provide more accurate private versus public sector comparisons and to encourage greater government accountability, many government entities use the cash based accounting methods. However, they are heavily encouraged to change to the accrual-based method.
The cash accounting system is a system to provide a budget. In cash accounting, all payments for a specified period (usually one year) as intended in the budget are presented. Cash accounting is applied to the Dutch Central Government, although in addition, it is combined in use with the commitment system. When using the commitment system all amounts due to contracts in a specific period (usually one year) are completed as expenses in the budget. The payment itself is not.

Suppose “Rijkswaterstaat” (“Rijkswaterstaat” manage and develop on behave of the Minister of Infrastructure and Environment national network of roads and waterways) purchase a new fleet and the contract is shut down in late 2009. Production is started in 2010, and in the summer of that year, the new cars will be used. These cars go along for five years and the total cost of the cars is € 1,000,000. With cash accounting, the total of € 1,000,000 will be presented in the budget for 2010. Based on the commitment system the total liability of € 1.000.0000 is presented in the 2009 budget, the year the obligation was incurred.

3.1.1 Advantage cash/committed oriented accounting

What benefit does cash based accounting provide? Actually only a couple of benefits using the cash based method accounting exist, however if this method fits the business, it will save much money in the bookkeeping expenses. If most of the sales are cash sales, the business does not maintain an inventory, and the business does not have customer accounts or returns. Because it is much easier and it is much cheaper to maintain, in this situation the use of the cash based method is a much better choice than the accrual-based method.
Another advantage for using the cash based system is that the draft notes for the subsidy requires the application of cash accounting to the accounting for political parties. This because it presents a better insight into the use of funds for eligible activities and creates an easier approach for a review control without a subsequently requirement of a more careful analysis of the accounts, for example a departmental audit.

However, in practice for the subsidy an increase of using the accrual-based method is visible. In addition, with the application of the accrual-based method a review control can be used. The argument for the compulsory of the cash accounting consequently nowadays is not convincing. Nevertheless, based on the experience of the Government the use of cash based accounting realizes more insight in the grants than the use of accrual-based accounting do.
3.1.2 Disadvantage cash/committed oriented accounting

For the use of cash based accounting, a few disadvantages exist.

A fundamental disadvantage of the cash based accounting system uses by the Government is that the expenditure for work for the infrastructure which in a certain year has been budgeted has an advantageous impact that is spread out over a large number of years. The total capital outlay presses on the current budget year, whereas the application is spread out during several periods. This may leads to the inclination to suspend investment projects or postpone replacement investments. Resulted, according to the agency-theory, in the situation that an adverse selection will perform, i.e. a contrary choice of projects will conduct. A cash based accounting system during the periods does not foresee the possibility of dividing the expenditure, and enjoying of the advantages of the investments.
Another disadvantage, in accordance with the one that is signalled before, is the choice for the expensive financing forms before cheap ones. For example, a previous government has chosen to lease prisons. The total expenditure for the financing by the lease was much higher than the expenditure if have been decided to build them self. Based on the lease construction the expenditure will be spread in the time (so for example the cost for € 100.000 will be spread over five year, so each year there will be € 20.000 lease cost), consequently the lease-expenses during the government period were lower than the expenditure for the complete construction of the prisons. If government would build the prisons, they have to take the cost for € 100.000 in one year. In this situation, in addition the “adverse selection” has been used.
When there will be decision making based on incorrect or incomplete information, according to the agency-theory, there is another disadvantage for the use of the cash based accounting system that could be stated as  “moral hazard.” To realize that a project or a program will be accepted drivers and policy civil servants will be confronted with the seduction that the budget of the total expenditure for this project or program looks low. Just when the project is started, a large number of disappointments appear, resulted in the situation that the expenditure for the project or the program enormously will increase.
In addition, the situation can exist that projects, which were not estimated, all of a sudden are carried out based on `under spending'. In this circumstances it can appears that a part of the expenditure for other projects is not spent, consequently the minister can donate a not-estimated contribution. 

The last large disadvantage of the used cash based accounting system by the Government is that local governments use an accrual-based accounting system. Because the central government and the local government use several accounting systems, situations could arise that a department realises improper agreements with a province, for example the construction or the modernization of a highway. Because the budget of the central government offers no more space for such expenditure, the application of the cash based system does not creates the possibility for the large replacement investment. However, the province, thanks to its accrual-based system, because of their financial position could conclude to use a loan for the investment in the freeway. 

3.2 Accrual based accounting
The accrual-based accounting system, just as is the cash based accounting system, is a scheme to provide a budget. With the accrual-based accounting system, costs for products that will use longer that one year will split in expenditure for different budgets.

The accrual based accounting system is especially applied in businesses and at the lower governing board layers of the government, such as municipalities.

Suppose “Rijkswaterstaat” purchase a new fleet and the contract is realized in late 2009. Production is started in 2010, and in the summer of that year, the new cars will be used. These cars will be used during five years and the total cost of the cars is € 1,000,000.

Based on the use of the accrual-based accounting system the € 1,000,000 will shared by five years (200,000 p/j) and this amount annually will presented partly in the budget of 2010, and in the budgets of 2011, 2012, 2013 and 2014 and partly in the budget of 2015.

3.2.1. Advantage accrual-based accounting

Based on the use of the cash based system no balance sheet will be prepared. based on this annual financial statement the government capacity does not become clear. The use of the accrual-based system presents insight in the property and the debts of the government and the difference between those two, the government capacity. This is one of the advantages of the use of the accrual-based system.

Another advantage of the use of the accrual-based system is that by the use of this system a better insight can realize for the annual costs and for the annual profits. In addition, more balanced has been realized for the allocation (source of the costs, which department entity has caused the costs or has received the income). With respect to the use of the cash based system this is another advantage of the use of the accrual-based system. 
Another advantage of the use of the accrual system is that, if the government is performing according to the accrual based system, it improves the transparently of the costs of the government performances and of the financial position.

For the financial annual report of the government, little interest exists. The interest for the annual account of the government would increase if these would be established according to the accrual-based system; this is in conformity to the used accounting system in the private business world. Consequently, for the users it is much more rapidly understandable and much more transparent. In addition, a more compact presentation of the figures would be helpful.

The last benefit of the use of accrual accounting is that less risk exists that in times of tight budgets, investment will repressed in favour of the current expenditures. Because in the case of deflections postponement or adjustment in an investment project, a much lesser extent exist to the budget space, consequently the use of the accrual accounting allocation is better. This is since the investment is not charged to the budget in one sum, but in the form of costs divided over its lifetime.

3.2.2 Disadvantages of accrual-based accounting

A disadvantage of the use of an accrual-based system concerns the manipulation of the dividing. Extending the system of income and expenses, the operating expenses will covered by the current account and the investment under the capital account seems to be obvious. This however create the possibilities to finance expenditure for investments with loans and present them in the balance sheet, and only the depreciation costs are at charges of the result (the remainder of profits and losses on the ordinary service). Consequently, an investment does not influence the national budget; and in addition, a cash flow organization has realized.

In addition, the disadvantage exists that a department qualified a good as an investment good, whereas in principle this is not. Consequently, the accrual principle will threaten. And on the other side the risk exists that capital goods will presented as exploitation costs, for example in situations of under spending. The fear of a controller to lose a bit of the budget, can lead to the situation that capital goods will be qualified as current expenditure. Creating the situation that the accrual based system will compromise. In both cases the level of the profits and the losses for the ordinary service are not well compared with each other, consequently the matching principle is threatened.

Another large disadvantage of the use of the accrual-based system concerns the random depreciation. For the determination of the depreciation, two possible risks exist. The first risk concerns the choice of the method of depreciation. What prevents the budget Officer to choose the amortization method that currently presents the best results for the budget he has bound? Alternatively, in order to improve the result in an agreement to the best score of the budget at that moment, what consideration does the budget holder have to an interim adaptation of the depreciation method?

The second risk with respect to the depreciation concerns the choice of the deprecation period. A modification in the depreciation period creates the possibility to raise or to reduce the depreciation amount directly. This risk appears as the main point of changes in budget instead of the economic reality. In addition, possible realignments or scheme modifications are relevant to achieve budget results, which connect to the expectation of the department leader. For the activities by the agent, at first sight the department leader will have no reason to complain, but because of the actions of the agent he will be misleading.

The last great disadvantage of the move form cash based accounting to accrual-based accounting is the pronouncement of the state debt. In the first place, it is remarkable that the government strives for a situation that the national debt has been entirely relayed, whereas she need to act more commercially if she wants to use accrual accounting. Which business will put him the goal to pay off entirely the debts? Debts are necessary for the use of leverage. The return on its equity is raising considerable by using as much as possible debts.
In addition, opposite to the debts, an enormous quantity of capital goods exists. Just the in the past chosen policy to expenses investment, infra structure and buildings causes the situation that against the liabilities of the National government an enormous value of assets exist.

3.3 Summary

The main finding for the disadvantages and the advantages of the cash committee oriented system and the accrual-based system is that there are more advantages to the use of the accrual-based system. It is more comparable for local governments, more readable for third parties and more based on the system that the local business uses. However, if the government decides to use an accrual-based system they need to consider their opinion about all debts.

In the next chapter an experience of the Australian Government will present, why they reformed to an accrual-based system, their experience and a few advantages and disadvantages as stated in this chapter will present and comment.

4. An international reform of accounting in public sector

4.1 International developments

Since the 80’s of the last century, the use of the income charges system in the OECD (Organization for Economic Co-operation and Development) countries in the public domain has increased. The objective is that with the use of the common instruments (new public management), public organizations functions more effective and transparent. At the level of the Central Government, around half of the OECD countries are experiencing the benefit of the use of accrual accounting. The main purpose is to present a clear account of the actual costs of the public activities and to improve the decision-making process. Worldwide more and more countries are guided on the introduction of accrual accounting and of the benefit of this system for the Central Government. A pioneering country in the areas of the conversion to an income expense scheme for the Central Government was Australia.

For the achievement of the objectives of the financial reform, among others an industrial tiger, a more efficient, and a more transparent government with more competition, more focus on outputs and on outcomes, allocating of costs to performance and effects, better understanding of the costs of policy, the introduction of accrual accounting was necessary. A need exists for general-purpose financial statements, suitable for economic decisions and for accountability purposes. As further advantage of the accrual based system Australia communicated was the contribution to the long-term insight, understanding of the costs by consideration whether or not to outsource and to manage better the assets management.

4.2 Australia as example

Australia was the first country that adopted the accruals accounting for the Central Government. These systems are characterized by a large degree of affiliation with the accounting standards for the private sector. The resulting systems are full benefits-accrual accounting.

In Australia, integral benefit exists by the use of accrual accounting for the entire Central Government: all departments, all the agencies, and all the public companies are applying the benefits of the use of accrual accounting. Consequently, the big benefits are that the complete public sector is using accrual based accounting. 
4.2.1 Why Australia wanted to reform her public sector

A. Barton communicated the next main reason why the government of Australia introduce an accrual-based accounting system. “The reason was money, or the lack of money by the government” (Barton, 2009, p. 225). 
The consequences that in the 1970s and in the 1980s, much public dissatisfaction existed for the scope of the costs that government activities caused. The government found it difficult to pay their activities with funds from returning income; the result was a higher national debt what caused a higher interest level which negative influenced the economy. This dissatisfaction along with higher tax tariffs was essential for the reform of the government to an accrual-based system. Because of this change the government has realize more grip for the range of their activities, consequently act more efficiently and more effectively.
The introduction of the benefit accruals accounting in 1999 was an important step in resolving these shortcomings. For the first time in |history was transparent what amount the Government spends on the delivering of their performance. The association of the budget intended effects provides, in addition, a greater incentive to achieve the effects. Because the budget and the accountability through the same principles are structured, immediately the extent of the destination range can examine.

4.2.2 What is the content of the Australian government reform?

A. Barton describes what the Australian government has reformed and what accounting standards they used. “Two subsequent reforms were made to the accounting and budgeting systems in 1999 following the Charter of Budget Honesty Act 1998. Accrual budgets were introduced, as recommended by the National Commission of Audit (1996) and cash budgets were abolished along with the direct reporting of cash transactions” (Barton, 2009, p. 232).
Law requires the idea behind the two different accrual budget systems. Because of this change, the law states that two types of accrual budgets need to be prepared. For the reporting standards, based on the Parliament decision, the next two sets of such standards exists, the Australian Accounting Standards (AAS), and the Government Finance Statistics (GFS) standards. 

The GFS system offers a comprehensive conceptual and accounting framework which is appropriate for the analysis and overall budget for the public sector of a country, this conclude that the GFS system could be qualified as an International Monetary fund system. It was designed to suit the special nature and roles of a government in serving the nation by providing collective services and to measure the economic impact of the government activities. The AAS system was recommended by the National Commission of Audit, the accrual budget system was introduced to a better format to get the financial results that are more comparable.

By the introduction of these two different accrual budget system the used old cash budgets have been eliminated. Disadvantage of the two different budget systems that coexist is that much confusion could exist for this. Further, in this chapter more concentration about this confusion will be realised.

4.2.3 What are the experiences in Australia?

Australian has introduced two accounting systems, the AAS for the comparability to the outcomes of the financial statements and the GFS for analyzing the general budget system and the broader public sector. The main question, for the use of these two systems is what the experiences are of the Australian government. A. Barton in his article communicated about the experience: “The results of the reforms have been mixed” (Barton, 2009, p.221.). The encouraged and promotion of the reform in the public sector of Australia from cash accounting system to accrual accounting regarding the essential of the efficiency, effectiveness and accountability of the accrual accounting system was publicized large. The effect of this was that opinions were mixed regarding the beneficial reform. The accrual system has great advantages and some had positive outcomes, but much people regarding some accounting abuses offset these benefits. The accrual system was primarily intended to improve the efficiency of operations, but for example the approval of the business model used by the accrual accounting, the termination of the former cash accounting and adoption of some questionable liberalization reforms, were more used to reduce the size of government. Because Treasury believed that the business model used by the accrual system would be inappropriate related to the fiscal budget policy, based on these abuses a second system was implemented. Consequently, for the government finance statistics system Treasury introduced a second combined accrual and cash accounting system. The use of two systems of accrual accounting, reporting different results, caused much confusion in the European Parliament.
Another disadvantage A. Barton communicated was that because “Academic reviews of the reforms were mainly critical” (Barton, 2009, p. 221). 

The reform of the Australian government from cash accounting to the accrual based accounting system and the new budgeting system in the press has been presented with much praise, expectation, and promise. It would be much better, more efficient and effective if the government would take the accrual based system. It was extensively reviewed by the parliament, official investigations have been sufficient; consequently, the new system was better than the old system.

However, academics were not satisfied about the new accrual based system what the government wanted to introduce. They were especially critical of the whole reform, which was qualified as a significant improvement in resource management, fiscal accountability, and of the performance figures. Because the government saw only advantages, many academic saw disadvantages of introducing the new system, the reform was deemed inappropriate and created problems.

As the academics had been predicted, at the time of the introducing many problems became visible; however, fortunately for the Australian government all this revealed problems in recent years have been resolved. 
As a recommendation on another disadvantage, R. Day communicated, “Accounting systems need to be ready and able to cope with the collecting of the information required” (Day, 2009, p. 232).

The cash accounting system is used for years in the consolidation of the municipalities and the provinces. Based on the accrual-based system, this system is slightly different.
Despite the fact that several governments have consolidated various projects with relative size, still problems raised regarding the implementation of this consolidation in the various jurisdictions of the government. The reason why these consolidations caused problems is that many agencies do not have the systems and expertise in house to collect such information. 

 In order to avoid such problems in the future the accounting system need to be prepared in such a way the employees can collect the necessary information. In addition, in order to acquire sufficient knowledge of the new system for the consolidation the employees need to follow an appropriate training.
Based on the disadvantage and the advantage of the reform of the accounting in the public sector, A. Barton communicated the next recommendation focussing on Governments that in the future intent to reform their accounting systems. “Economic or public choice theories have contributed powerfully to a new paradigm of ‘government by the market’—meaning not only that public responsibilities should be reduced and public policies adjusted to the pressure of economic markets, but in addition that government itself should be remodelled and reformed according to the market concepts of competition and efficiency” (Barton, 2009, p. 225).
4.3 Summary 

This chapter has described the financial accounting reform in Australia. 
Based on this information can be determined that the introduction of the accrual accounting system has realised more efficiency and effectiveness. On the other hand, it confused the parliament by using two accrual accounting systems and having two different reporting mechanisms, this is considered as a great disadvantage. Another disadvantage is the cost for the reform, as R. Day communicated, the system should be ready for such a reform, and the people that need to use the other system should be retrained.

Based on the articles of R. Day and Barton there can determined that these are qualitative research. No formulas have been used, no samples have been taken, no statistical methods have been used, and they have investigated the history of Australia, take all this points in consideration this leads to qualitative research. 

In the chapter research design, this will be more outsourced and for the methodology this articles are the basis of the survey questions.

Before the situation in Australia is presented in the next chapter, the focuses will be on prior research concerning accrual-based accounting system at the Central Government in the Netherlands.
5. Prior research for the accounting system of the Dutch Central government
The topic ‘usefulness of financial statement information’ can be investigated based on different perspectives. The main point of view is the value relevance of the information provided. What is the added value of publishing particular information? This chapter will review some scientific papers for this subject. This realise a suitable insight in the context of this topic. To establish the main users of financial information this chapter starts with a report of the American Institute of Certified Public Accountants (AICPA) and next continue with the further literature review of empirical scientific literature for the use of accrual-based accounting by the government. The list of scientific articles for the subject of value relevance is long. The aim is not to present a complete overview of all these articles but to provide a suitable basis to start the study on the subject related to the main topic the ‘usefulness of financial statement information’.

Further, this chapter contains prior research focussing on this subject for the Dutch Government.

5.1 AICPA study of user’s need for information

In 1994, the AICPA has published for the first time a report for the improvement of business reporting (The Jenkins Report, 1991). This report may be outdated, but still presents a suitable impression about the main users of the financial statements. The research has been performed for the profit sector in the United States but can still serves as a basis for all kinds of businesses throughout the world. Their conclusions of this research will signal below.
Business reporting provides users information that influences their decision-making. the most common way to provide users Financial information are the Financial statements, mostly they are viewed in a framework that will well organize the Financial information. The users of the financial statements have accepted the framework and in addition, they have welcomed improvements in the business reporting, but none so ever has comments on the used framework or has the suggestion to delete the framework and build another one. Yet many users are strongly critical of certain aspects of today’s reporting. The organizations that provide us with business reporting (mostly the large ones) have already introduced some particularly information that the users wanted to see (think about governance ore Corporate Social Responsibility “CSR”. These organizations have not provided a new framework but have integrated the information into the old framework. 

“Based on the information needs of users as well as the costs and benefits of potential improvements, the Committee developed recommendations to improve business reporting. Key points about those recommendations are:

· To meet users' changing needs, business reporting must:
a) Provide more information with a forward-looking perspective, including management's plans, opportunities, risks, and measurement uncertainties.

b) Focus more on the factors that create longer-term value, including nonfinancial measures indicating how key business processes are performing.
c) Better, align information reported externally with the information reported to senior management to manage the business.

· Users believe auditor involvement with financial information is essential. 
To serve its customers better, the auditing profession should prepare to be involved with all types of information in business reporting to the extent companies and users may decide is necessary.

· Participants in the business reporting process must do a better job of anticipating change by:

1. Focusing on users' information needs and finding cost-effective ways of better aligning reporting with those needs.
2. Developing and maintaining a comprehensive model of business reporting reflecting the kinds of information that user’s need (the Committee has designed and illustrated such a model.

3. Adopt a longer-term focus by developing a vision of the future business environment and users' future needs for information.

· The current legal environment discourages companies from disclosing forward-looking information. Companies should not expand reporting forward-looking information until there are effective deterrents to unwarranted litigation. (AICPA published august 2010, page 4 and 5)”.
In their report, in addition, the AICPA (page 6 and 7) distinguishes several groups of users. This classification shows the most important users and in which way they use the financial statements.

	Type of User 
	Reason for Using Business Reporting 

	

	


	Investors 
	Help with investment decisions 

	Creditors 
	Help with credit decisions 

	Management and board members 
	Help with decisions about managing the business 

	Employee groups 
	Help understand compensation policies and a company's ability to meet compensation and benefit commitments 

	Competitors 
	Help evaluate competitive strengths and weaknesses and business strategy 

	Regulators 
	Help assess compliance with regulations 

	Academics 
	Provide data for research 

	The press 
	Provide data for articles 

	Users concerned with various social causes 
	Help assess a company's involvement in areas of concern


A wide variety of users exits, all with different needs. Consequently, the value relevance of a financial statement per user will differ. Composers of financial statement can impossibly serve all users but being aware of the group they are writing their report for will already add greatly to the perceived value of the statement.

5.2 Empirical literature on accrual-based accounting in government
5.2.1 Prior research

The government is essentially an income-spending household. Originally, accrual accounting has developed for revenue generating entities; particularly private companies use this accounting system. In fact, the comparison between the revenues and the costs provides a financial result; this can be a profit or a loss. The government is different; it is not so much the financial result, which is important for the government, but rather the result of social spending. A relevant element is that the legislature agreed to the availability of the budget by the government budget. Cash budgets are still very important for the government, namely legislators grant credits to be issued by a special purpose as specified by the government. However, the main reason why a shift exists from cash accounting to accrual accounting is that they expect it will yield more insight into the costs, resulting in more cost conscious and which will result in a more efficient method of government (van de Hoek, 2005, p 34).

Consequently, for budgetary accounting income spending is the relevant activity to be monitored, while commercial accounting focuses on income earning. This distinction can be further conceptualized in the next table (Mol en de Kruijf, 2003, p. 546):

	
	Income spending
	Income earning

	With respect to
	Consumption
	Production

	Aiming at
	Allocation (utility)
	Efficiency (value added)

	By
	Budgeting
	Pricing

	In
	Budgeting accounting
	Commercial accounting

	Focusing on
	Ex ante budgets
	Ex post accounts

	Specifying
	Availability for spending
	Results obtained

	By
	Authorization of expenditure
	Matching revenue and costs


Based on the content of the table before can be determined that the income spending governments mainly are steered by ex ante budgets. Hardly any ex post accountability exists. Spending the available budget seems to be more important than performing efficient and effective. Decisions are bases on the budgets. Since budgets are future oriented financial plans, all decisions are surrounded by a level of uncertainty.

Different systems of budgeting exist. Cash-based systems are the most common type of budgeting. In this type of budgeting Parliament authorizes cash payments for a certain period. In commitment-based systems, authorization is necessary to enter into commitments. Cash payments are allowed to a level of these commitments during the set period. Accrual-based systems cover the full costs of the operations of the government and increases in liabilities or decreases in assets. This kind of appropriations requires special mechanisms for controlling the cash. Notably, accrual accounting does not require the abolition of cash-based appropriations. Some critics point out that, for two reasons, an accrual budgeting system cannot be the system for the government. First, budgetary laws often require the legislature to authorize the cash payments. Second, as presented before, an accrual system is tailored to income formation: it matches revenues and cost. In the public sector, however, it is impossible to match tax revenues with production cost (Ministry of Finance, 2001).

A wide spectrum of possible accounting bases exists ranging from cash to full accrual. Cash-based accounting measures the flow of cash resources and recognizes transactions and events only when cash is received or paid. Accrual accounting recognizes stocks and flows. Stocks refer to the holdings of assets and liabilities. Assets can be financial (such as cash), physical (such as property), or intangible (such as copyrights). The difference between the total value of assets and the total value of liabilities is the net worth. Flows reflect the creation, transformation, exchange, or transfer of economic value and, consequently, either an increase or a decrease in the net worth. Revenues increase net worth, whereas expenses decrease net worth. In practice, many countries’ systems are a mixture of both extremes. Insofar as accrual accounting systems are used, they differ across countries (Ministry of Finance, 2001).

In recent scientific literature review, much has published about government accounting. Lapsey et al. (2009) state that the adoption of accrual accounting by public sector organisations on a number of levels can be qualified as self-evident. By implying that “assets are assets” Lapsey et al. (2009, p. 721) in addition communicated that accrual-based accounting can be used regardless of the economic sector.

In the same article Lapsey et al. (2009, p. 722) use some interesting points for some government specific accounting issues:

“Regarding infrastructure assets, there is another challenge to conventional asset accounting.” This challenge is the recognition of classes provided. The government uses various classes such as infrastructure assets, which contain roads, highways, water supply, and drainage systems. These infrastructure assets have an almost infinite lifetime, for longevity planned maintenance programs, the accrual creates a very peculiar asset. In addition, immediately the question arises for which program the maintenance of these assets are accounted for.

The government uses community assets; the public sector should continue to recognize these assets. Because, for example, the government has many social security benefits, a reclassification of the asset should be necessary. By this reclassification of the assets, it could increase the thought to integrate the valuation of the social benefits to an asset.

According to Lapsey (as signalled before), these are two technical issues razing with the adopting of accrual accounting in the public sector which are overstated by the management point of view.

Arnaboli and Lapsey (2009, p. 809) communicated that a major debate has been perform on the merits of the use of accrual accounting in the public sector. This statement for them was the reason to start a research on the implementation of accrual accounting for local government. They have drawn up that it appears that the intention of improving the information for the user, by improvement the accounting policy, does not has yet materialised. The local governments show little interest in their annual report or other reports, then that of their auditors. Because of this it appears that few or none scrutiny from the local governments exist on their annual reports which are brought to the public, this because the new system is not or hardly known at the management of the local governments. 

The new system has cost much more money than they had thought. Consequently, because they recognised how much effort this requires and how less appreciation they realised at the local governments the everlasting debate concerning the implementation at the government continues.

Likierman (2000, p 259) in his study investigated the decision taking by the UK central government. In the UK, the different departments report to the Parliament. These reports include public accountability, which will lead to the fact that the internal processes are examined and viewed by the public. If it turns out that these processes, affect the public order they will be subject to public control. An example is the output and the performance indicators, this information provided informed comment to the outside. The public has the opportunity to question the figures and the basis on which they are used. More clarified understanding of this information has helped the UK in the decision to reform.

Conolly and Hyndman (2006, p. 272) tried to ascertain the principal benefits and drawbacks that have been experienced in the implementing accrual based resource accounting in the UK public sector. They have communicated, “What is found is a story of overoptimistic claims and obfuscation of costs. The very best that could be suggested from this research is that a lengthy continuum of accounting change is underway.”

They mean that the implementation of the accrual-based accounting system will take a lot of time and will cost a lot. The result of the implementation in the UK is a complex and expensive system that has provided few benefits until now. 
Christiaens and Rommel (2008, p. 73) determined in their research that the implementation of accrual-based accounting only will be successful in business like governments. “There is no single best accounting system”. It is know that cash-based accounting is more useful for governmental activities like the preparation of budgeting and is less useful for activities in which business aspects play a role. Unlike cash-based accounting is the use of accrual-based accounting better for businesslike activities, the economic information provided by accrual accounting becomes relevant.
Buena-Bontas and Petre (2009) communicated in their research to accrual-based accounting that: “Reporting and budgeting. Sometimes the budget is financially much more important than the financial statements”. The objective of reporting is to provide understandable and reliable information to the user, so they can base their decisions on this information. In addition, accrual reporting contained no-cash information likes amongst others write-offs that can be useful to the decision making of the user. Nevertheless, the financial report based on accrual accounting has to rely on the budget that is provided by cash-based accounting and the report needs to show the difference between the budget and the actual results. 
Buena-Bontas and Petre (2009) also communicated the a few disadvantage about the implementation of accrual-based accounting. One of the main disadvantages are the very high costs that the implementation take with it, some related costs are developing accounting policies; establishing accounting systems etc. In addition, by implanting accrual-based accounting an increased complexity of the financial statements will be produced. A third disadvantage they signalled is the developing necessary skills and providing financial information training for preparers and users.

Other disadvantages they have signalled are: 
a) “it is designed to measure profit, a largely meaningless concept in the public sector; 
b) maintenance of public assets is more important than providing information on their value; 
c) it takes budgetary control away from finance staff, as they decide when cash is paid, but non-financial managers and suppliers decide when invoices are issued; and 
d) given its complexity, requires greater professional judgment by both the preparers and the auditors of government accounts.

Comparatively, cash-based accounting is simpler and more objective.”

The IFAC report ‘Government Financial Reporting’ (2000, p. 70) concludes:

“Accrual accounting is essential if financial reporting is to provide information useful in evaluating the government’s performance in terms of service costs, efficiency, and accomplishments. It can assist users by providing better information for decision making and accountability and by changing the way managers think and operate.”

With other words, the IFAC signalled that the use of accrual-based accounting needs other decision-making than cash-based accounting.

About governmental financial reports the before signalled IFAC report (2000, p. 59) communicates that governments has two rolls, one roll is to inform the users about the financial position and the other roll is accountability for the financial position. For the user the use of accrual-based accounting create the opportunity to assess the financial position, the performance, and the cash flow of the government. It will allow the user also to assess the compliance between the budget and the realised result and it will help the user in making decisions about providing resources or doing business with other entities (or give subsidies or money to associations).
5.2.2. Hypotheses
This brief overview of scientific literature focussing on the implementation of accrual-based accounting in government agencies proves that many advantages exist but just as much disadvantages. Accrual based accounting can be implemented regardless the economic sector however the advantages need not to be exaggerated. Most researches performed have been focussed on the implementation of accrual-based accounting but no research has been performed focussing on the added value for the Parliament. In theory, many advantages exist for the use of accrual reporting. These advantages are based on the perception that because accrual accounting provides better insight in business information as write-offs, asset investments, depreciation, and long-term liabilities, users will be able to realise better decisions. This research is intended to investigate whether in addition this is the case for the members of Dutch Lower House of Parliament and their staff.

Based on the prior research signalled in paragraph 5.2.1 three hypotheses will be investigated.

· H1: Applying IPSAS will creates a better insight and better understanding in the financial statements.

· H2: The advantages of IPSAS investment do not outweigh the costs for the implanting.

· H3: Applying IPSAS will prove better information for decision-making and may change the way managers think and operate.

5.3 The Dutch Government
Although not clear if this information will be used in the empirical part of this research, it is still useful to know the past developments for the use of IPSAS by the Dutch Government.

5.3.1 Current situation in the Netherlands

Before the 1980, the Dutch government accounting was in bad shape. Since than many changes have been implemented that causes improvements to the financial management of the ministries. These changes, known as the Government Accounting Reform Operation, have resulted in a better grip on the national expenditures.

“Despite this progress, there remained some dissatisfaction with the budgeting and accounting process, this dissatisfaction had been expressed mainly by the Lower House of Parliament” (Dees and Linders, 1999, p. 11).

The Parliament performs controls on the policy; it can determine that insufficient oversight existed to exercise this control function. The detection was that the bills were too large, too technical, and too limited in scope. The accounts were intended purely to presents an insight into the financial affairs, however this accounts communicated little about this subject. The problem was that the accounts communicated little about what exactly was achieved with the available financial resources and people were wondering whether the performance were conducive to meet the goals. This information is necessary for the control of the policy by the Dutch Parliament.

In the 1990’s the financial statements of the ministries were presented to the Lower House of Parliament in September. More than eight months after the budget year had ended. A great improvement to earlier years when sometimes no financial statements where hand over to the Parliament at all. Since 2000, the Dutch ministries have to prepare their accounts before March 15. The Dutch Court of Audit has until May 15 to complete their audits allowing Parliament to finish their control task before the end of June each year.

5.3.2 Recent developments in the Netherlands

In paragraph 1.1 Background has signalled that in 2001 the former Minister of Finance, Gerrit Zalm, announced to introduce a system of accrual accounting in the entire national government. The aim of this change in the accounting system was to realise that Dutch government accounting are more efficient and more effective. In the 1990’s some other countries shifted to the use of accrual accounting and the Netherlands wanted to follow these examples. The following text will deepen out this announcement of Gerrit Zalm.
The next text is a translation of the before signalled announcement by Gerrit Zalm:

“With the introduction of the operating budget on Budget Day 2001 an important step will be put towards a government that - more than has been the case – is result oriented. As there will be a linkage between policy objectives, policy and resources the operating budget will comply, as agreed upon in ‘From policy budget to accounting for policy’ (Van Beleidsbegroting Tot Beleidsverantwoording), with the proposals. This will lead to greater transparency in budgets and improved accountability. It also creates greater transparency in the quality of the (results of) budgetary improve decision making, because it will be possible to outweigh policy outcomes to policy objectives. The current budget system - cash/commitment accounting - is not an appropriate system for such an outcome-oriented environment. Accrual accounting – as businesses, local governments and now many parts of the national government use - is more appropriate. It is consequently, this cabinet plan for the entire state budget over several years to be based on accrual accounting.”
Within the financial management of public organizations, four trends exist that support the choice for the use of full accrual accounting focussing on the government. The first development is that within the financial management the government is increasing the emphasis placed on the performance delivered and the associated costs. The Final budgets are being adjusted (VBTB) and by extension are more output directed. Consequently, the focus shifts from the input of resources to the intended and achieved performance and mobilization of resources. 
The second development is the increase in the number of components of government agencies that already use accrual accounting. Besides the 22 agencies that already use accrual accounting, currently around 15 executive departments nominated for the status of agency. Among them are large divisions as Tax and Estates. Based on this development the question arises whether it is appropriate to operate two accounting systems side by side.

The third development is the trend towards a commercial working government, while a comparison between the market and the government regularly is at issue. Using the same language as the business and having information as if the total cost is essential. Public-private partnerships, innovative procurement, and competitive services are examples.

The fourth development is the state of the public finances. Since the Netherlands has a positive short-EMU balance (
), space is created to focus better on the cost of the investment and fluctuations in the EMU-balance can be countered without problems with the EMU standard regarding the budget.

5.3.3 Pilot of the Dutch Ministry of Agriculture, Nature, and Food Quality

During the last couple of years, the Dutch Ministry of Finance has produced reports on this subject. These reports have been sending to the Lower House of Parliament and there have been treated. In these reports, the results of a pilot performed by the Dutch Ministry of Agriculture, Nature, and Food Quality have been presented.

A motion of Mr. Mastwijk (TK 2003-2004, 22 June 2004, 29540, nr. 101) called the Dutch Government for a plan to execute at least by one Ministry a pilot on the transition from the cash-budget administration to the accrual-based administration.

In a letter (BZ 2008-677M, 26 September 2008, Directie Begrotingszaken, Ministerie van Financiën) the Lower House of Parliament was informed about the results of this pilot. For the Dutch Ministry of Agriculture, Nature and Food Quality two annual financial reports have been presented. One based on the regular cash-budget system and the other based on accrual accounting. The goal of this pilot is formulated as:

1. Will there be, based on multi-annual perspective, for the Lower House of Parliament better information available about the costs of policies?
2. Will business within a Ministry be more efficient?
3. What are the possible consequences for the national government of the broad implementation of the accrual system?

In this letter about the financial information of the LNV pilot is communicated that the pilot shows that the use of accrual accounting may lead to slightly more numerical attention. Because the insight in the future costs and the insight in the prepayments (in relation to grants) is visible, the numerical understanding increases. For long-term projects, a more direct relationship exists between the costs and the benefits but also a significant administrative burden exists. The pilot shows that implementing an accrual based accounting system is not easy. It is a costly and time-consuming process. This applies not only to the design of the system, but also for applying it. The implementation creates significant administrative burden and is expected a strong commitment to hiring outside personnel to implant the system. In addition, to increase the knowledge of the accrual system for training substantial investments is needed. International experience confirms this.

The main result of the pilot is the decision to implement not the accrual-based system. The disadvantages of this system outperform the advantages. The main disadvantages are the high costs and the time-consuming process of the implementing of the accrual system.

The trigger performing this research is this statement. In which way the Dutch Parliament deal with this ‘slightly more numerical attention’? 
The report is prepared by the Dutch Ministry of Finance and represents the opinion of the current ruling parties. The Parliament’s main task is to control the government’s actions. A difference might exist in the way the Dutch government review the results of the pilot and the way the Dutch Parliament review the results. This research will provide more insight in the possible added value of a change in the administrative system for the Dutch national government.

5.4 Summary

The main subject for this chapter is that implementing the accrual-based system will create more insight in the financial situation of the government. Only the government is tied to a budget and the costs of implementing the accrual-based system outperform the advantages of the use of an accrual-based system. This was the main reason according to the pilot at LNV. 

However in the pilot were not communicated the benefits of decision making, is it easier to decide based on accrual accounting or will the member of the Dutch lower house of parliament, based on accrual accounting, create other decision? As signalled in the IFAC report, accrual accounting can assist users by providing better information for their decisions. 
Based on the prior research in this chapter the following three hypotheses have been formulated. 
· H1: Applying IPSAS will creates a better insight and better understanding in the financial statements.

· H2: The advantages of IPSAS investment do not outweigh the costs for the implanting.
· H3: Applying IPSAS will prove better information for decision-making and may change the way managers think and operate.

To investigate whether these hypotheses can accept a survey is drawn up. In which way this research will be preformed is presented in the next chapter. That chapter contains the research design for this study and the survey questions drawn up based on the prior research. For a summary of the prior researches see, annex 6. This literature overview will be used in chapter 6 to drawn up the research design.
6. Research design
In the previous chapters, the theoretical part of this research has been communicated, prior research related to the topic has been investigated, and hypotheses have been formulated. In this chapter, to test the hypotheses, the research design is provided.
6.1 Research approach

The field investigations will approach by means of a pseudo-experiment and interviews. 

This research will investigate in which way changing from a cash/commitment accounting system to an accrual based accounting system might affect the decisions by the Dutch Lower House of Parliament.

The target is to answer the research question signalled before. Based on the empirical part of this research no other conclusions will be drawn.

To perform the empirical part of the research needs to decide which kind of approach to use. The approach is what research strategy will suit the best for the investigation.

Several research strategies exist that could be chosen. Next, a summary of a different kind of research strategies will be presented (Verschuren and Doorewaard 2007).

Survey

One of the most common methods of research is the survey method, through systematic interviewing information about many attributes a large number of research units need to be collect. Although this method has, the advantage that it can generalize statements, this method in addition has disadvantages. First, it is the question if sufficient response from the research units of measure will receive. The questionnaire needs carefully use. Finally, it should be necessary to have statistical knowledge to handle the detected results, and to interpret it.

Experiment

In an experiment, researchers have to use systematic variation in the independent variable. The assumption is that the independent variable has an effect on the dependent variable.

Case study

Another method is the case study; it has been organized as a particular purpose to describe the process of a system. For example, focuses on a particular organization and observe some particular measurements of a particular situation. The number of research units varies, but is not very big. In the research need to specify in which way the information about the case has been gathered information. Generally, the statements cannot generalize, but on the other hand, much more depth in the research can be realized.

Grounded theory approach

This is a pure theoretical approach project; this purely qualitative approach has interfaces with the previously signalled case study. To investigate which ideas are the similarities and the differences to identify, in this approach the researcher has to compare continually different theoretical approaches.

Desk research/ literature research

For this choice there need to be decided in which way there will be searched, e.g. what are the words in the title that are the keywords, or are the systematic codes. In addition, the files that have consulted need to be available, e.g. the library or CD-ROM (only English-language publications). Just as if with a survey not everybody will answer the questions, it is possible that they do not go through all the titles (or the articles), because they are too many. It is, however, necessary to indicate on what base some of the literature has been selected. In addition, in the case of a literature study, it is possible to present the found results in a scheme. This scheme contains the results per title, or an outline of supporters, and opponents.

6.2 Methodology

In this research, the statistic sample that will be used is the Dutch Lower House of Parliament plus their supporting staff. This approach would like to show them two situations of the annual financial statements, one based on an accrual based accounting system, and one based on a cash-oriented accounting system. The intention is to investigate differences in their decision-making.

Based on this approach will be tested the effect of a change in the accounting system, with one group based on the old situation and the other group based on the new situation, then investigate the differences.
The ultimate goal is to answer the research question formulated in chapter 1:

“What will be the effect of changing from a cash/commitment oriented accounting system to an accrual based accounting system on the decisions by the Dutch Lower House of Parliament”

By collecting data through ask the opinion of individual users this experiment can qualified as a case study.

A case study is a research in which the researcher tries to create a profound and integral understanding of one or more limited spatiotemporal objects or processes. The object or processes amongst others could be a local broadcasting, a company, the creation of a specific law or a location choice of a dump. (Verschuren and Doorewaard, 2007, p. 183/184)

Because the research will try to get the opinion of members of the Dutch parliament by providing them two different survey questions, it looks that the most suitable type of research is a case study.

Verschuren and Doorewaard in addition signal some characteristics of a case study;

-“a narrow domain, consisting of a small number of research units
- a labour-intensive approach

- more depth than width

- a strategic or selective sampling

- the alleged concern in many cases the whole

- an open observation on location

- qualitative data and research methods”.

In this research, a small number of research units exist; one survey based on cash committed accounting (the independent control group) and one survey based on accrual accounting.

A labour intensive approach is the most common approach with a case study. This research has chosen to let the participants fill in a survey with closed questions, this is not the common procedure by a case study, but it can be used in a case study.

More depth is obtained by asking the participant there own opinion.

The surveys will be send to members of the Dutch lower house of parliament a not to random people, this statistic sampling is chosen by the fact that this research is about the Dutch Parliament.

At the end of this experiment, the survey questions present the answers on the hypotheses and these hypotheses present the answer on the research question.

Investigated the natural habituated of the participants is not necessary, Based on the fact that this is the parliament that can be habited every day on television, investigating the natural habituated of the participants is not necessary.

Based on prior research (see annex 6, summary of prior research based on chapter 5), the nature of these questions and the fact that the opinion of people is asked, these data and research method can be qualified as a qualitative research.

The text before concludes that this research is complying with a case study. In addition, the prior research in chapter 5 concludes that most of the researches are based on case studies, see annex 6 for the overview of the prior research used in this research.
6.3 Measurement
In this research is measured the decisions by members of Dutch Parliament and their staff after studying two annual statements of the Ministry of Agriculture (LNV). One annual statement is drawn up in a pilot of the Ministry of Finance and parts of these statements are presented in annex 2, this is the annual statement based on accrual accounting. In annex 3, the annual statement based on cash accounting is presented. These one was not published in the pilot of the LNV but in the annual statement 2007 of the Ministerie of Landbouw, Natuur en Voedselkwaliteit
6.3.1 in which way to perform the research

First, the participants will ask to answer a number of (multiple-choice) questions. 
For the questions based on accrual accounting see annex 4 and for the questions based on cash accounting see annex 5. 
By analyzing the answers of the participants after studying an annual statement drawn up according to the cash-commitment system and a statement drawn up in accrual based accounting it is able to either accept or reject the hypothesizes signalled in chapter 5 “prior research”.

The hypotheses will process in the multiple-choice questions; consequently, the selected participants will indirectly answer the hypotheses.

If and only if the computed value of the test statistic belongs to the rejection area, the hypothesis one until three will reject. For this research, this implies that if the outcomes of the surveys are the same, as well for the example based on accrual accounting as for the example based on cash oriented accounting, the hypothesis one until three will reject. 

In addition, the research based on Australia in chapter four will process into the questions so the theory of R. Day can investigate if this will lead to the same conclusions as the Dutch parliament.

Some are based directly on the external accounting theory. In chapter two, is signalled that a suitable theory for this research is the efficient market hypotheses. A change in the accounting system will change the insight of the investors (hereby the government) and maybe will imply other decision.

Another suitable theory for this research is the Positive accounting theory. As signalled in paragraph 1.2 the Dutch Parliament can be qualified as the investor. The Dutch Parliament decides in which way the available money need to be spent and whether the last year’s money was spending efficient and effective. By investigating whether changing the administrative system of the Dutch government from the cash-budget accounting to the accrual accounting causes a different decision process by the Dutch Parliament, consequently, the Positive accounting theory is a suitable theory for this subject. Consequently, no single theory exists for a research topic; it is depending on in which context the research will perform. Based on the prior researches both theories will be suitable and consequently these theories will process into the questions.
Shown in annex 1 the (allocation of seats in plenary hall) 10 political parties exist divided over 150 chairs. For this research, the two smallest parties will not include in this research, consequently, the Staatkundig Gereformeerde Partij and the Partij voor de Dieren in this research will not participate.

The remaining eight parties can be divided into three categories, Right wing (76 seats), centre wing (15 seats), and Left wing (55 seats). 

Shown in the next paragraph to realise a good view of the outcomes the sample size must be minimum 98 surveys. Calculated the dividing of the seats to percentages 52% of the surveys (51) should be the Right wing parties, 38% (37) of the surveys should be the Left wing parties, and the other 10% (10) should be of the centre wing parties. If the research hold on to this distribution a clear view will present of the government on this moment, in which the government think about the use of an accrual based system.

6.3.2 Qualitative or quantitative research
To be able to interpret the data first is needed to establish the measurement scale. The variables can distinguish in two groups: qualitative (or categorical) and quantitative. A qualitative variable reflects a grouping of units whereas a quantitative variable not reflects a grouping of units. Both quantitative variables as qualitative variables can divide in two levels of measurement. Qualitative variables can divide in nominal or ordinal, quantitative variables can divide in interval or ratio. In his book ‘The practice of Social Research’ (International Student Edition, 2007, p. 452) Earl Babbie describes these four levels as follows:

Nominal measure 

A variable that only attributes have the characteristics of exhaustiveness and mutual exclusiveness. In other words, a level of measurement describing a variable that has attributes that merely offer names or labels for characteristics.

Ordinal measure 

A level of measurement describing a variable with attributes can rank-order along some dimension.

Interval measure 

A level of measurement describing a variable that attributes is rank-ordered and has equal distances between adjacent attributes.

Ration measure 

A level of measurement describing a variable with attributes that all have the qualities of nominal, ordinal, and interval measures and in addition are based on a ‘true zero’ point.

The multiple-choice answer cannot be quantified or ranked, consequently in this research nominal variables will use, the variables can only measure in terms of whether the individual items belong to some distinctively different categories. Next to that will research whether different annual statements influence the decision taken by the selected participants, this research asked for their opinion, this is qualitative data.
In addition, the research of R. Day and Barton in chapter four has been qualified as a qualitative research.
6.3.3 Research variable

In a survey, different variables can use. This could be dependent variables, independent variables, but in addition, disruptive variables exist. Disruptive variables refer to other independent variables that can associate with the study of the determinant in the research and that should concern about the effect of the independent variables on the dependent.

This research investigates whether a change in the used accounting method will influence the decision of important persons in the Dutch Lower House of Parliaments. Concerning this, the research will state if concerning the dependent variables this result will predict. Consequently, for the dependent variable the answers of the survey based on accrual accounting can be used.

The independent variable in this research is the opinion of the participants in the control group (survey based on cash accounting). The advantage is that it creates less harmful variables that should take into account. 

The disruptive variables can qualified as limitations of the research. This could be amongst others the influence of the political background, non-response, different sex, less or more money to spend.

In this research the non-response factor is eliminated by calculated a non-response of 50% into the sample size, see paragraph 6.5.2.

In addition, in this research the political background is an issue. To eliminate the limitation the questions are sending in ratio to the political parties, see paragraph 6.3.1. The last limitation that will effect this research is the lack of knowledge, consequently the first four questions in the survey are standard based questions about the knowledge to read financial statements, if the participants will answer these questions right than they have the knowledge and can realise rightful input to this research.

In addition, there will be no need to taken into account the balance between the different groups, that as many women as men in the sample exist, the same number of immigrants than the native population, people with less or more money to spend and so on.
In this research, to calculate the way that the response variable Y depends on the independent variable X a proper technique (Chi-square test) is chosen.

6.3.4 The measuring of the experiment
The independent and the dependent variable will qualified as nominal variables (qualitative data); based on this information the statistic technique need to use is the Chi-squared test that compares the observed counts with the expected counts. 

The requirements to the Chi-squared test are:
1. Qualitative data;
2. One or more categories;
3. Independent observations;
4. Adequate sample size (at least 10);
5. Simple random sample;
6. Data in frequency form;
7. All observations need to use.

The answers of the multiple choice questions will present in a table, based on this table to test the null hypothesis the following formula will use:

X² = Σ (observed – expected) ²/ expected

The expected count will calculate as ( (row total x column total) / n

Under the null hypothesis, X² has approximately the chi-square distribution with (r-1) (c-1) degrees of freedom, in which r is the number of rows en c the number of columns. The P-value for the test is: P (χ² ≥ X²), where χ² is a random variable having the χ² (df) distribution with df = (r-1) (c-1). 

In addition, χ² will estimate with a calculation of the margins of error with a 90% confidence interval. Since the sample is small, the confidential interval of 90% has chosen, for more information about this interval see paragraph 6.5.1.
X² = Chi-square statistic
Observed count = represent an observed sample count
Expected = represents the excepted count of the same cell
Σ = Sum is over all r and x cells in the table
n = total number of observations for the table
r = row total
c = column total
df = degrees of freedom
χ² = Chi-square distribution
(χ² ≥ X²) = P-value of the test
6.5 Data sampling

To examine whether the reform to an accrual-based accounting system has an influence on the decisions by the Dutch Lower House of Parliament, members of the Dutch Lower House of Parliaments involved in the decision making process will be observed. This group consists of members of Dutch Parliament as well as their supporting staff. Dutch Lower House of Parliament consists of 150 members representing 10 parties, for the “delegates” see annex 1(source: tweedekamer.nl ledenlijst 2010). Estimate the supporting staff at 2 persons per Member of Parliament. In total, the research population then is 450 persons. In order to achieve significant and valid results, the sample size needs to be sufficient. 

6.5.1 Sample size
To determine the sample size the following formula is used

n>= N x z ² x p(1-p)
       z ² x p(1-p) + (N-1) x F ² 

This is a formula for a sample where the population is finite. The population is finite because the total size of the population is estimated to 450 individuals.

The outcome of the before calculation consequently, indicates how many respondents need minimum have to return. The content of the elements are

n = number of respondents needed. Always round up

z = standard deviation for a given confidence %, consequently, at 95% of confidence 1.96. This is commonly used. 

N = the population size

p = probability that a certain someone answers (in most cases 50%)

F = the margin of error, often this is 3%, 5% or 7%

The margin of error in the research is set on 7%; this because the survey covers an audience of which the assumption is that they do not communicate wrong answers. In addition, no good or wrong answer exists in this survey. This research will investigate if it creates other decisions, consequently, the outcomes could not be good or wrong. Consequently, this research could work with a bigger error margin than 5%. 

To realise an answer about a population based on the result of a sample, one holds a reliability/confidence margin. This margin is commonly set on 95%, but in addition a margin of 99% or 90% can use. Because not is known whether the sample result to deviate upwards or downwards, it always takes a top and a bottom margin.

The confidence interval is use to indicate in which way the researcher is confident with his estimated value. It is an interval within the researcher expects the true value is. Formally, the interval expresses something about what values are expected as an experiment will be repeated several times. By using this margin the intention of the researcher is that if the researcher repeats the research for over a 100 times, it is expected that in 95 of the cases the true value will be between the 95% confidence interval.

Based on the nature of the investigation and the selected people, in this research a confidence interval of 95% will be used. This implies that is expected that in 95% of the cases the true value be between the 95% confidence interval.

As entered the right values in the formula the following sample size is calculated
n>= 450 x 1,96 ² x 0,5 (1-0,5)

     =  110 surveys
       1,96 ² x 0,5(1-0,5) + (450-1) x 0,07 ²  


6.5.2 Non-response
Because always a non-response exists, the survey need to send to more people than the calculated sample size signalled before. Non-response is caused by various factors, including:
· No interest in the subject

· No time to fill out the survey

· The survey is too difficult

· The questionnaires are to long

· The response categories are too limited

To minimize the non-response it is important to ensure that the respondent is motivated to fill out the questionnaire. This could be achieved by:

· Provide a clear introduction letter or e-mail

· Pre-state how long it will take to complete the survey

· The survey is not to overload (20 short questions)

· To make use of a clean and clear layout of the survey

· Provide a presentation to tough questions

· Indicate all possible response categories or give the option "Other" 

· Decrease the survey anonymously 

Based on this consideration by performing the survey, a non-response rate of 50% is assumed. 
6.5.3 The actual sample size
The following formula is used to calculate the actual sample size:

Na = (n x 100: re %)

Where:

Na – actual sample size required is
n – the minimum sample size
re % - the estimated response rate
Taking into account the non-response (110 x 100: 50 %) = 220 actual surveys need to send to meet the minimum sample size to be 110.
6.6 Summary

This chapter presented the outline of the empirical research. Despite of the shortcomings (disruptive variables) of the research, the qualitative result of the research contains valuable information. The next chapter contain the results of the empirical part of this research. Lessons that from this research can learn and the recommendations provide in chapter 8 will be supportive in developing a consecutive research, of which the quality can be further improved.
7. Result of preformed experimental research
7.1 Introduction

In this chapter, the results of the empirical part of this research will be presented. In the next paragraph, the characteristics of the respondents will be presented. Next, the knowledge of the respondents regarding the concept of IPSAS will assessed. Throughout the interview and survey answers  the assumptions of the respondent of the cost of the implementation of IPSAS will communicated. In addition, the vision of the respondents will presented regarding the insight of the financial statements and their opinions on whether the accrual based system will influence the decisions. The analyses of the opinion of the respondents regarding the presented materiality measures will be executed through an integrated qualitative approach. 
Subsequently numerous selections are applied to the data. In this way, in order to derive meaningful conclusions from them, the results of the open- and closed-ended questions are compared to each other and analyzed. The results are presented using annalistic statistics and a qualitative assessment.

At the end of this chapter, the answer can be formulated at the question whether a relevant expectation gap exists and what the users’ opinions regarding the accrual-based system are.

7.2 Characteristics of the respondents

In this paragraph, the characteristics of the respondents are presented.

220 respondents were asked to take part in the research. Because the survey was focussing on the members of the financial departments, all these respondents did qualify as a user of the financial statements. The research was conducted among various types of users of the financial statements. Most of the respondents were professional representatives of financial comities. Because only twelve of the respondents react on the survey, the information is not enough to realise a reliable answer on the hypotheses. In chapter six, the minimal sample size was 110 respondents.

The survey respondents are not a waste of time and the non-responses are not a motivation to reject the empirical research. To realise a reliable answer to the hypotheses a combination is possible between the twelve survey respondents and five interviews with IPSAS experts. This combination will realise enough information to realise a reliable answer for the hypotheses. 
Because of the few respondents in this research the result could not use in SPSS using the chi-square test. If the answers of the surveys and the interviews were used in SPSS, the outcome will be flat and creates no representative outcomes to answer the hypotheses and these could not be rejected or accepted. Consequently, this research could better be performed based on a qualitative research instead of a quantitative research. 

Based on the changes, this chapter will not contain any SPSS outcomes but in paragraph 7.4, a comparison will perform of the answers through the surveys and the answerers of the interviews, all the significant differences in this paragraph will be comment.
7.3 Knowledge regarding the concept of IPSAS

The first objective of the research is to determine whether the use of IPSAS will create a better insight of the financial statements. An important element of the answer to this question is to know whether respondents of financial statements are aware and informed of the concept. 

As signalled before, not all the respondents belong to the category “Dutch Lower House of Parliaments”. The other respondents varied from IPSAS experts among the employees of the Ministry of finance to experts of IPSAS in business. Most of these other respondents were not directly users of the financial statements of the Government, but respondents that use the financial statements of the Government for other than direct financial purposes. Examples of this purpose are accounting control and two of the respondents have help to set up the LNV-pilot of 2007 (used in this research).
7.4 Summery of survey answers
In total 12 respondents of the Second and First Chamber of the Parliament filled in the survey. 8 people have filed the survey on the accrual based accounting system and 4 people completed the survey of the cash accounting scheme. The only deviation between these two surveys are the first 4 questions, these are the questions to analyse if the person who filled in the survey have sense of the figures and knows what he/she's talking about. The other 11 questions are identical and can be added together. Concerning the answers of the surveys see, annex 8. Based on the results of the first four questions, it can be stated that the 12 respondents understand the subject and the answers of their surveys can use in this research. 

7.4.1 answer questions 5 till 8

Questions 5 to 8 deals about the fact if based on the financial statements or the LNV-pilot a decision to invest or budget adjustment can be execute. Question 5 is particular about an adjustment of the budget for agricultural products, majorly the answers were no with the explanation that too little information in the documents was available to form a decision on this. Question 6 was about an investment for new roads or buildings, in addition this one was answered with no because too little information was available and the fact that it refers to the Agriculture Ministry and this Ministry does not perform these decisions. Question 7 was about investing more in bonds, the majority answered no with the same reason as concerning question 6. Question 8 was about general investment, it became clear that no idea exists because too little information in the document was available to base a decision on.
Table 7.4.1 summary question 5 till 8
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7.4.2 answer questions 9 till 11

The questions 9 to 11 deal with more understanding in the society exists of the accrual based accounting system and concerning the retraining of the staff. Question 9 deals with whether the figures based on the accrual based account system are more understanding. 83% of the respondents communicate yes because before they become a member of the first and second parliament they were accustomed to handle this system. Question 10 deals about the fact if retraining is useful if a single uniform system of accountability exists that can be used to work with. The majority of the answers is yes “if it is not entails too much money", this because they qualify the current system in addition as good and invest too much money in a new system is a waste of money. Question 11 deals about the vision that in the education system the accrual based accounting system is learned and that the audience knows more about this system and can better understood information based on this system. The majority of the answers underpin this vision. Because this only is true for people with an economic background a few are not agree with this vision.

Table 7.4.2 summary questions 9 till 11
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7.4.3 answer questions 12 and 13

These questions deals about the reaction of investors and managers if another financial statement will be adopt. In which way the respondents expect how these investors of managers will react. Question 12 deals in which way managers respond to changes in the accounting standards and in which way they will react to the change in the income and in the expenses system. The majority of the answers was that they will react negatively, firstly because they are not accustomed, and secondly because they can be judged more than when they used the cash accounting. Question 13 deals with the reaction of the investors or the users of the financial statements on a possible adoption of the income and expenses system. Because the adoption have implications for the budget for the upcoming years, because the basis on the income and expenses system gives more insight about the future returns on investments, majority of the answers indicates that indeed a reaction will follow.
Table 7.4.3 summary questions 12 and 13
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7.4.4 answer questions 14 and 15

Question 14 deals about the IFAC report of 2007 in which is stated that the use of the accrual based accounting system creates well and information that is more intelligible and this information can be helpful by decisions and can create changes in the management performed by managers. The majority of the answers were that they agreed with this vision. 

Question 15 deals about the reason why the Government not yet adopted the accrual based accounting is that the budget based on the accrual-based accounting is not easy to establish. Because the Government is similar to a company and has income, expenses, assets and debts, the majority disagrees with this opinion.

Table 7.4.4 summary questions 14 and 15
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7.4.5 Interview questions 

As signalled before only the survey answers are not enough to realise an answer for the stated hypotheses and the ultimate central question. Consequently is chosen to perform a few interviews with IPSAS experts. Based on the survey questions the questions for the interview are formulated, the questions 1 to 4 belong not to the interview questions, and questions 5 to 8 are summarized in 2 questions concerning to invest or not invest or adjust the budget. Furthermore, questions 10 till 15 are completely incorporated in the interviews. For the interview questions, see annex 7.
7.5 Summery of the interview answers

In this research the following six people have been, all with sufficient knowledge of the use of IPSAS. 

Anton-Eelco Gerritsma, Director at PwC and active in the domestic administration segment. 

Bass Wakkerman, active as a Director at the internal audit services at PwC especially in the area of domestic governance. 

Thomas van Tiel, employed at the Ministry of finance, and employee at Deloitte and was employed as an advisor for Frans van Schaik concerning specific IPSAS research 

Henk Schepers, employed at the Ministry of security and justice (“CJB”) and was employed before by PwC 

Frans van Schaik, partner at Deloitte and formerly member of the IPSAS Board. 

W.G.J. Wijntjes, employed by the province of “Zuid-Holland”, member of the Commission of BBV and formerly employed by PwC.
7.5.1 Results of the interviews 

There are nine interview questions (see annex 7). Hereinafter referred to per question a summary will be presenting the responses of the interviewed people, for all the answers see the individual interviews in annex 9. Question 2 and 3, which are about a budget adjustment/investment are merged.

7.5.1.1 Are the figures of the LNV-pilot clearer than the figures in the financial statements? 

The answer of five of the six respondents was positive the following reactions exist: 
· It does not really matter, the cash accounting system in the National environment is better understandable, and concerning the underlying services/companies the use of accrual based accounting system produce better information; 
· The LNV-pilot creates better information than the financial statements based on cash accounting; 
· LNV-pilot is short and clear, surely extend beyond the financial statements based on cash accounting and consequently a better view; 
· The income and expenses system creates more en better information one of the advantages is that in addition always a cash flow statement is available. However the added value for the Government is doubtful, the Government have hardly any investment; 
· The information is he LNV-pilot is clearer; 
· The LNV-pilot is recognizable for people in business, the pilot present relevant information with a clear structure.

Table 7.5.1.1 summary question 1
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7.5.1.2 would you rather decided to decisions relating to an investment or a budget adjustment based on the LNV-pilot or based on the financial statements?

Question two and three 67% answered that they need more information concerning decisions like that, this were the following reactions;  
· To adjust the budget based on both models much more information is needed, an investment can be better to decide based on the information in the LNV-pilot;
· Concerning both a budget adjustment or an investment much more information is needed than is published in the financial statements/pilot; 
· It is easier to decide based on the income and expenses statement than based on the cash accounting system, however in both cases much more information is needed; 
· Both are final financial statements many more information is needed concerning decisions of this kind; 
· Both the financial statements and the LNV- pilot did not contain all the necessary information concerning to perform such a decision; 
· This kind of decisions are more driven though the need, the income and expenses may internally be helpful concerning such a decision.
Table 7.5.1.2 summary question 2 
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Table 7.5.1.2.1 summary question 3
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7.5.1.3 Is it worth investing in the retraining of personnel if this ultimately creates a single uniform financial system in the financial reporting by the Dutch Government?

This question was answered with the following different reactions:
· First should be clear what costs and level of costs are involved before such a decision can be performed; 
· Yet precisely retraining is necessary for everyone in the private business to educate them to know the content of the cash accounting system, this could save money;
· For the Dutch governance the savings are to small; 
· The savings could be sufficient if the EU required the mandatory adoption of IPSAS; 
· Concerning the various agencies and bodies the adoption of the accrual based system is preferable, concerning the financial reporting of the Dutch national Government it is not necessarily only if the Government intent that they have too much money; 
· Technically, it is not necessary because no consolidation will perform, however if all the EU countries adopt the IPSAS this could create advantages.
Table 7.5.1.3 summary question 4
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7.5.1.4 In previous research, it was determined that the citizens understand more of financial statements based on the income and expenses system. Do you agree with this vision?

83% of the interviewees agreed with this vision, the next reactions are communicated:
· Agree, however 80% of the Dutch population do not use the annual financial accounts of the Government, consequently what are the advantages? 
· Not agree, based on the home administration of the citizens (cash book), cash accounting is much easier to understand; 
· Yes, for people with a skilled economic background, but the Dutch Government wants to realise accountability based on the simple cash accounting system.
Table 7.5.1.4 summary question 5
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7.5.1.5 In which way do you expect managers will respond to the possible introduction of the income and expenses system?

Most of the interviewees (50%) expect that the managers will react negatively, the following reactions exists: 
· By the introduction questions will ask ' what need to do with the surpluses, do we get extra jars, is more budget available because the company creates more profit', in addition a risk exists because with the cash accounting system directly the money tap can run-off  and with the income and expenses system this is impossible when a wrong development arises; 
· More will invest in the beginning because the investment can spread during a number of years; 
· Shift risks “Verschuivingsgevaar” with the income and expenses system is much more present, however less jars are possible; 
· The reactions are negative because of the enormous debts in the balance sheet, for instance concerning the national Dutch pension liabilities (AOW) and the pension liabilities; 
· This concerns more a culture change, citizens need to be more aware of the figures; 
· Because of the adoption, the focus will be more on the future, more than 1 year need to be forecast.
Table 7.5.1.5 summary question 6
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7.5.1.6 Do you expect that the possible introduction of the income and expenses system creates an economic response by the users of the financial statements and will this created an effect on the budget figures for subsequent years?

50% of the interviewees communicate that the users of the annual financial of the Dutch national government or the investors will not react; in addition, 50% expect that this will cause an influence on the budget for the subsequent years. The next reactions have communicated:
· By the introduction of IPSAS immediately an effect is visible in the financial position in the balance, this is valuable information for the creditworthiness of a country; 
· Investors will not react so much as the managers will do, because supply and demand remains the same no influence will be on the budget; 
· Certainly a response will by the user of the financial statements and in addition other decisions will be perform;
· Because the figures will presented in the further or in the past to realize a better connection, this will have a one-off effect in the year of the introduction;
· The persons buying Government bonds will certainly react if the AAA status disappears;
· By the users of the financial statements a limited response is expected, however more strongly will be examined if the longer-term obligations can be repaid.
Table 7.5.1.6 summary question 7
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7.5.1.7 Concerning the Dutch national Government it is crucial to use a budget, in previous research, it was determined that with the use of accrual-based accounting a budget is difficult to use. Do you think this is the main reason why the Government do not adopt accrual based accounting?
The answers are divided; the following reactions were communicated; 
· Indeed this is complicated to use, many rules need to be used;
· Budget remains based on of cash accounting, concerning the necessary the insight it is not possible only to apply the income and expenses system; 
· The technique is not complicated, it is depending on the culture and on the kind of person that need to perform the activities concerning in the financial information; 
· Private companies in addition with the income and expenses system use budgets, why would the use of budgets for the Government in combination with the income and expenses system be more difficult?
Based on the answers much difference in opinion exists about the drafting of the budget, though everyone agrees that this definitely was not the main reason why the Government has not yet been switched, this concern continues the cost of the switch.

Table 7.5.1.7 summary question 8
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7.5.1.8 In the 2007 report of IFAC is communicated that the use of the accrual based accounting (income and expenses system) provides better and more understandable information than based on the cash accounting information. In addition, that this may be helpful in decisions and that it creates a change in the management by managers. Do you agree with this vision?

83% of the interviewees agreed with this vision, the reactions are: 
· Yes, definitely agree
· This deals more with cost accounting than with good control by managers; 
· The average manager will perform better decisions based on the income and expense system because this is clearer;
· Definitely agree, New Zealand since 2011 already have a positive equity by better management
Table 7.5.1.8 summary question 9
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7.6 Significant difference between the surveys and the interviews

In this section, the most significant differences between the survey responses and the interviews will be presented. 

The survey questions 5 till 8 and the interview questions 2 and 3 deal with the fact whether better decisions are possible concerning an investment or a budget adjustment based on the annual financial accounts or based on the LNV-pilot. In both cases, the majority communicate (67% of the interviewed and about 83% of the surveys) that in both documents too little information is available in order to decide on this question.
The question whether the figures based on the LNV-pilot are more understandable in both the interviews and in the surveys is for 83% answered with yes, the figures based on the income and expenses system are experienced as more informative.

Concerning the question whether it is worthwhile to retraining employees, the answers communicate however, the underlying vision is something different. 33% in the interviews communicates that it is not valuable and that is 25% in the surveys. 33% of surveys is positive about the fact of the retraining and qualified this as valuable, in addition shows 33% of the interviews qualified this as valuable when the EU decided that all the countries mandatory need to adopt IPSAS. In the surveys for 42 % this value depend on the cost of the adoption in the interviews is this 17%. In addition, notable is that an IPSAS expert communicates that the adoption of the income and the expenses system is profitable because retraining than no longer is needed; this answer is not communicated in the surveys.

The question whether the public understands more of the annual financial accounts based on the income and expense system than of annual accounts based on the cash committing in both the interviews and surveys the majority answered yes, 83% and 75%.

The question in which way managers are going to react by the change, most expect a negative reaction if the income and expenses system will be introduced. 50% of the interviewed communicated that their assumption is a negative reaction towards 67% in the surveys. One of the interviewee communicated that he expect another reaction, it is concerning the culture, this will have to change, another communicated that he expected an positively reaction and one person communicated that his assumption is that both positive and negative reaction will caused by the adoption, these visions corresponds with the visions in the surveys.

The economic response by the user and the impact on the budget concerning the next years in the interviews in the surveys are slightly different answered but the general vision is the same. In the interviews, 50% communicate that they expect a reaction and 50% expect that the user not will react. The opinion is that hardly anybody will use the annual financial accounts and consequently no response will communicate the others vision is based on the creditworthiness and the investors. 75% of the surveys expect the adoption creates an impact on the budget. However, in the interviews, 50% communicated the expectation of an effect on the budget, 33% communicate that no influence is expected and 17% communicated that because after one year after the adoption the effect on the budget no longer exists consequently only in the first year after the adoption an effect in the budget is expected. In the surveys 75% communicate to expect an impact on the budget, 17% expect no influence and 8% has no opinion.
The question  whether the budget based on the income and expenses system is more difficult to prepare than the budget based on the cash accounting have the next results. During the interviews 50% agreed, however 83% that really are employee at the government qualified the Government as a company and that this implies no difference if the budget is prepared based on the income and expenses system. However, both the interviewee and the survey’s respondents definitely agree that this is not the reason why the Government has not yet been switched but that this concerns the cost of the transition.

Concerning the last question whether agreement exist with the statement in the IFAC report "accrual based accounting (income and expenses system) provides better and more understandable information than information based on cash accounting. And this can be helpful in decisions and that this can create a change in the managing by managers" the next results exist. Both the majority of the surveys 67% and the majority of the interviews 83% agreed with this statement.
Based on summaries before can be concluded that the answers in the interviews and the answers in the surveys does not diver much. Consequently, all the answers can be used concerning answering the hypotheses, and the central question.

7.7 Concluding remarks

In this chapter, some rather convincing conclusions are drawn. A relevant expectation gap is derived from the results of the respondents. Respondents, representing the users of the financial statements, are significant proponents of uniform financial statements for the audit report. 

Concluded can be that everyone is for implanting IPSAS for reasonable costs. An explanation for these answers might be the fact that there is a crisis going on, everyone is aware of the costs.

In the next chapter ‘Recapitulation, Conclusions and Recommendations’ the results of each chapter will be presented one more time in an uncluttered way. This enables to formulate the answer on the sub questions and on the research question as formulated in paragraph 1.3. In addition an answer is formulated stated the formulated hypotheses.
8 Recapitulation, Conclusions and Recommendations

8.1 Introduction

The goal of this research is to provide an answer to the main research question:

‘What will be the effect of changing from a cash/commitment oriented accounting system to an accrual based accounting system on the decisions by the Dutch Lower House of Parliament?’

The answer to this question provides insight of what the vision be of the managers of the Dutch Lower House of Parliament and in which way they will act when the accrual based accounting system will be used concerning the financial statement. In addition, it will provide knowledge about why the Netherlands not yet have adopted IPSAS.

In the process towards formulating answers to these questions, the concept of IPSAS and the current audit practice (cash accounting) are explained, users of financial statements are described, the opinion of IPSAS experts is asked, and several other theoretical matters have been presented. Hypotheses were formulated that predicted the answer on the main research question.

8.2 The answers to the sub questions

In chapter two, several theories behind external accounting are presented. The main point is the value relevance of the provided information.
Chapter two only gives a summary of the presented theories, after looking at prior research in chapter for and five a decision is made which theories is the most suitable for this research and can be processed into the survey and interview questions.

Chapter 6 paragraph 6.3.1 communicated that the effective marker hypotheses and the positive accounting theory are the most suitable theories for this research, based on the prior research chapters. These two theories are proceeding into the questions.
This constituted the answer on the first sub question of this research:

1. What is the theory behind the external financial accounting?

Chapter three present the content of cash/committed oriented accounting and the content of accrual based accounting. In addition, the advantage and disadvantage of both systems are communicated in chapter three. 
The content of the cash accounting system is to report earnings and income over the fiscal reporting year in which the money is received and the expenses are paid. It is a system to provide a budget. The Dutch government in addition, use a committed system in combination with the cash accounting system. When using the committed system all amount due to a contract in the budget is completed as expenses, the payment itself is not (mostly the next year).

With this information sub question, two is answered:

2. What is the content of the term cash/commitment oriented accounting?

Chapter three provided the answer on the sub question 3 in this research:

3. What is the content of accrual based accounting?
With accrual-based accounting, cost for products that will use longer than one year will split in expenditure for different budgets.

4. What are the advantages and the disadvantages of the accrual-based accounting system?

There were more advantage than disadvantage, the main advantage is that it is more comparable for local governments, more readable for third parties and more based on the system that the local business uses. However, if the government decides to use an accrual-based system they need to consider their opinion about all debts (large disadvantage).

Chapter four present prior research concerning Australia that already have adopted the accrual based accounting system. In this chapter, it is communicated that the introduction of the accrual based accounting system has achieved more efficiency and effectiveness, but in the beginning, it is confusing to use two systems at the same time. In addition, it requires much preparation to switch to another system. 
In the other findings in chapter 7, is communicated that New-Zeeland as from 2011 no longer have a negative equity on the balance and that France is working towards a positive equity in the future. Herby countries are realising self-conscious about their figures and that has a positive influence on the management.
This constituted the answer in the fifth sub question of this research:

5. What are the experiences of other countries that already have executed the transition from a cash based systems to an accrual-based system?

6. What is the explanation of the consideration of the Dutch government to change their accounting system?

The answers to sub question 6 are already forecasted in the second part of chapter 5, were hypotheses have been developed based on the prior research of literature. These characteristics contained the three qualitative characteristics of the information and the cost aspect, which is unavoidable when considering solutions, as described in chapter 5, and a characteristic that incorporated the subjective influence on users’ perception.

8.3 The answer to the main research question

Based on the answers of the surveys and the interviews signalled in chapter 7 the hypotheses in paragraph 5.2.2 will be rejected or accepted.
8.3.1 H1: Applying IPSAS will creates a better insight and understanding in the financial statements.

As signalled before, chapter 7 contains both the survey results and the results of the interviews both have a positive outcome regarding the adoption of IPSAS. In both with 83% is detect that the figures based on the income and the expenses system better and easier are to read and that this definitely attaches more value to the information that is provided. Consequently, hypothesis 1 can be adopted; the use of IPSAS will create a better insight and a better understanding in the financial statements.

8.3.2 H2: The advantages of IPSAS investment do not outweigh the costs for the implanting.

Concerning the question whether one is prepared to retrain the staff when the income and expenses system would be introduced, in the surveys 42% and in the interviews 33%  response right away about the cost and if this costly. In addition, 33 % of the answers in the interviews qualified that the introduction of IPSAS is only costly when the EU mandatory required using the IPSAS; otherwise, it is a waste of money. Accordingly, because most want to know the cost and if it costs are too much the opinion is that it is not costly to invest in the introduction of the income and expenses system, consequently this hypothesis need to be rejected .
8.3.3 H3: Applying IPSAS will proved better information for decision-making and may change the way managers think and operate.

It is striking that by the questions whether the management will respond and in which way that interviewed persons believes that they respond, the opinion of most is that they will react negatively. If  then investigate the question on the position of the IFAC report most will agree, that the introduction of the income and expenses system definitely affects  better decisions and control of managers. It was this question even better argument by the example of France and New Zealand lawfully order about negative equity to what is positive, this implies that they are working on/with better management. Consequently, based on the results of the survey and in the interviews this definitely the response about in which way managers will react. Consequently, hypothesis 3 will be accepted based on the results and consequently applying IPSAS will prove better information for decisions and may change the way managers think and operate.

8.3.4 Other findings

It is notable that 1 of the interviews communicated that, because based on the study of the employees they are accustomed to use that system in business and not the cash system the introduction of the income and expense system just save retraining costs. Concerning the correct use of the cash system retraining costs are incurred and after the introduction of the income and expense that is no longer necessary.

In addition it is notable that everyone agrees that if the income and expenditure system will introduced, in the balance sheet of the Netherland huge debts will appear and that because of this situation the Netherlands will have a large negative equity. This causes that better control need to be adopting ultimately resulting in as soon as possible a positive equity. In 2011 New Zealand already has a positive equity and France is acting in a fast way to realize a less negative equity.

In addition it is notable that in the interviews everyone communicates that a culture change is necessary. On the moment an easy and not too complicated culture with the Dutch national government exists and if the income and the expenses system will properly introduces and operate a certain culture change need to perform, otherwise this new system will not function in a proper way

Question 7 concerns the difficulties of budgeting based on an accrual based accounting work. Based on the answer in 1 of the interviews has been found that the governments that already uses IPSAS have a cash flow statement and the budget preparation is based on the cash and not based on the accrual based accounting system. If IPSAS will be introduced still two systems need to use.
8.3.5 Conclusion
Together these hypotheses and the other findings provide the answer to the main question: 

‘What will be the effect of changing from a cash/commitment oriented accounting system to an accrual based accounting system on the decisions by the Dutch Lower House of Parliament?’

Based on the interview and survey outcomes IPSAS will give a better insight and better understanding in the financial statements, only the implementation of IPSAS depends on the cost. Consequently, the advantage of the adoption of IPSAS does not outweigh the costs for the adoption. In addition, prior research in chapter 5 concludes that the Dutch Government is attracted to IPSAS but the costs of the adoption are too high.
The respondent certainly agree to the fact that applying IPSAS will provide better information for the decision making and will change the way manager think.

As stated in chapter 7 the effect of applying IPSAS  is rather negative, because it will shown all debts on the balance there will be a larger negative equity on the balance and managers can spread out there losses over several years “verschuivingsgevaar”. 
However, the last question of the interview and survey is positively answered with 83%, therefore all the respondents think that by applying IPSAS the management will make better decisions in the future. This is also communicated in chapter four with the example of Australia, also communicated in the other findings  that New Zealand already has a positive equity and that France will work towards a positive equity.

The bottleneck for applying IPSAS for the Dutch Government is the costs. Throughout the whole research, everyone is rather positive about IPSAS, but it is not worth much if there are too many costs bound to the applying.

The executed research is too limited to give a straight answer of the hypotheses to present decisive conclusions of which IPSAS has influence on the decision-making. In the next paragraph however, based on the results of this research, recommendations will be presented which issues could be considered and investigated when developing the measures into full solutions.
8.4 Recommendations

In chapter 6, several limitations of this research have been presented. The sample size was not big and not a random sample. The sample was too small to divide the results into meaningful sub groups. Although the results and the conclusions that can be derived based on this are convincing in this research, the chance exists that (certain kinds of) users will judge differently in a more extensive research with a more representative sample. The first recommendation is, whatever subject relating to this research will be further investigated, it is advised to execute the research with a larger and more randomly chosen population sample.

In addition, the questionnaires need to be improved if this research is replicated with a larger and more representative sample. Questions about the user of the annual statement need to be more precise so interpretation can be omitted. 
The examples used in this research is of 2007 which is rather old especially in this economic environment with all the movements in financial reporting (credit crunch), in addition the LNV-pilot was based on the year-end figures of 2007 and did not shown the movement during the whole year or shown a budget. A recommendation for further research is that it is more suitable to use recent figures and an annual profit and loss account with comparing figures of the year before. In a follow up research, the design of the research should be more solid. 

This research pointed out that respondents want to use IPSAS because they understand the figures better and they assume that the figures present a better insight. It is recommended to investigate why other countries has started with IPSAS, what was the basis for decision? In addition, a further research about the cost of implanting IPSAS to the Dutch Government, this research has already perform, see chapter 5 prior research, however much recommendations were presented and it had perform before the credit crunch crisis and before the financial problems in Greece.
Based on IPSAS the financial effect is directly visible in the balance, it is more difficult to show figures that are better than they really are (see Greece). Especially with this current setting, it is interesting to research the effect on the decision making for the longer term.

The interviews revealed that in New Zealand they already have a positive equity and that France is working to realise a positive equity. The subject to investigate is if the positive equity is realised by better management decisions and this insight is interesting for further research.
In general a follow up research regarding the influence of the decision making when implanting IPSAS or the decision of implanting IPSAS should include;

· a reason why the other countries has chosen to work with IPSAS;

· a better insight of the costs that implanting IPSAS will cause 
· investigating the method of in which way New Zealand has realised a positive equity after eleven years;

· in which way IPSAS effect the decision-making on the longer terms.
· concerning the empirical part of the research uses a larger and more random sample

The conclusion of this research needs to be that the applying of IPSAS will have an influence on the decision-making, but it is not clear, based on the limitations, if these are positive or negative and if it is worth the costs. 
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Annex 1 – Allocation of Seats in The Dutch House of Representatives.
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Annex 2 – Annual statement accrual based
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Annex 3 – Annual statement cash-commitment
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Annex 4 – Survey questions accrual based accounting
Geachte meneer/mevrouw

Voor de afronding van mijn Master Accounting Auditing en Control aan de Erasmus Universiteit te Rotterdam moet ik een scriptie schijven. Deze scriptie is gericht op de mogelijke invoering van het baten en lasten stelsel door de Nederlandse Overheid en welke invloed dit zou kunnen hebben op de beslissingen die genomen worden.

Middels enquêtes wil ik een aantal standpunten duidelijk maken, daarom wil ik u 10 minuten van uw tijd vragen deze enquête in te vullen.

Bij de enquête krijgt u de documenten zoals deze indertijd in de LNV pilot in 2007 zijn gepresenteerd, op basis van de balans, de staat van baten en lasten en het kasstroomoverzicht wil ik u 15 vragen stellen.

De enquête is in Word format uitgevoerd, u mag met een andere kleur, bold of cursief uw antwoord communiceren (als het maar duidelijk is) en u wordt uitgenodigd eventuele op of aanmerkingen daarbij te communiceren. U mag dit retourneren aan onderstaand e-mail adres (of op reply drukken).

De enquêtes blijven anoniem.

Hartelijk dank voor uw medewerking.
Als u geïnteresseerd bent in de resultaten kunt u dat eveneens communiceren.

Met vriendelijk groet,

Nicolette de Troye

njdetroye@yahoo.com

Enquête vragen gericht op het baten en lasten stelsel

Op basis van de LNV pilot heb ik de volgende te beantwoorden vragen geformuleerd 
1. Wat was de omvang van de totale kosten voor programma landschap en recreatie in 2007

a) 10 miljoen

b) 14 miljoen

c) 18 miljoen

d) 32 miljoen

2. Het eigen vermogen in 2006 is € 788.277 en in 2007 € 744.589. Waardoor is deze daling veroorzaakt?
a) Effecten

b) Directe vermogensmutatie

c) Resultaat 2007

d) Geen idee

3. Wat is de oorzaak van het saldo Rekening –courant RHB ad € 477.888 in het kasstroomoverzicht per 1 januari 2007? 
a) De overige vorderingen

b) De liquide middelen

c) Het eigen vermogen

d) De kortlopende schulden

4. Zijn de cijfers duidelijk voor u, begrijpt u wat u leest 
a) Nee, niet duidelijk, ik begrijp niet echt wat op financieel gebied in dit jaar heeft plaatsgevonden
b) Ja, wel duidelijk, ik begrijp wat de cijfers zeggen

c) Maakt niet uit, cijfers zijn altijd onduidelijk.

5. Zou u op basis van de staat van baten en lasten het budget voor landbouwproducten verhogen?

a) Ja

b) Nee

c) Geen idee

6. Zou u op basis van de staat van baten en lasten een investering doen ten behoeve van de aanleg van wegen of gebouwen?

a) Ja

b) Nee

c) Geen idee

7. Zou u op basis van de balans, de staat van baten en lasten en het kasstroomoverzicht, meer in effecten investeren als financiële vaste activa?

a) Ja

b) Nee

c) Geen idee

8. Zou u op basis van het kasstroomoverzicht meer of minder willen investeren?

a) Meer

b) Minder

c) Geen idee

9. Als de jaarrekening vanaf nu ieder jaar wordt opgesteld via het baten en lasten stelsel, krijgt u daardoor meer begrip van de cijfers?

a) Nee

b) Ja

c) Maakt niet uit

In Australië is door een andere onderzoeker vastgesteld dat de invoering van het baten en lasten stelsel tot voordelen heeft geleid, maar dat de weg daartoe met een aantal complicaties is geconfronteerd. Enkele van deze complicaties zijn; het feit dat werknemers geïnstrueerd moesten worden om met het systeem te werken en dat in het begin 2 systemen naast elkaar moeten bestaan teneinde de overgang duidelijk te maken. Dit heeft tot de volgende vraag geleid; 

10. Vindt u het de moeite waard te investeren in de omscholing van het personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leidt en dat daardoor gemeenten, provincies en het Rijk gebruik maken van 1 financieel verantwoordingssysteem?

a) Ja zeker

b) Ja, uitsluitend indien dit niet te veel geld kost

c) Nee

d) Geen idee

11. Omdat ondernemers in Nederland gebruik maken van het baten en lasten stelsel en dit systeem in het onderwijs wordt gedoceerd is in eerder onderzoek vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel. Bent u het eens met deze visie?
a) Ja

b) Nee

c) Geen idee

12. In economische theorieën bestaat de opvatting dat managers reageren op wijzigingen in standaarden voor de financiële jaarverslaggeving. Op welke wijze, zullen naar uw verwachting, managers reageren op de eventuele invoering van het baten en lasten stelsel?
a) Positief, het geeft een veel beter inzicht in de cijfers

b) Negatief, want ze zijn dat niet gewend

c) Anders, want …..

13. Op basis van economische theorieën reageren investeerders als individuen in de markt op gepubliceerde financiële informatie. Deze reacties kunnen heftig of zwak zijn afhankelijk van de informatiewaarde. Verwacht u dat de eventuele invoering van het baten en lasten stelsel tot een economische reactie zal leiden bij de gebruikers van de jaarrekening en dat dit effect zal hebben op de begrotingscijfers voor volgende jaren?
a) Ja

b) Nee

c) Anders, want …

14. In het IFAC ( International Federation of Accountants) rapport van 2007 is gecommuniceerd dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel en dat dit behulpzaam kan zijn bij beslissingen en dat het tot een verandering kan leiden in het beheersen door managers. Bent u het eens met dit standpunt?

a) Nee

b) Ja

c) Is afhankelijk van 
15. Voor de overheid is het cruciaal om met een budget te werken, in eerder onderzoek is vastgesteld dat met accrual based accounting een budget heel moeilijk is om mee te werken. Denkt u dat dit de voornaamste reden is om als overheid niet over te gaan naar accrual based accounting?

a) Nee

b) Ja

c) Is afhankelijk van 

Annex 5 – Survey questions cash accounting

Geachte meneer/mevrouw

Voor de afronding van mijn Master Accounting Auditing en Control aan de Erasmus Universiteit te Rotterdam ben ik bezig om mijn scriptie te schrijven. Mijn scriptie schrijf ik over de mogelijke invoering van het baten en lasten stelsel bij de Nederlandse Overheid en welke invloed dit zou kunnen hebben op de beslissingen welke genomen worden.

Ik wil door middel van enquêtes een aantal standpunten duidelijk maken voor in mijn scriptie, daarom zou ik u 10 minuten van uw tijd willen vragen om de enquête in te vullen.

Bij de enquête krijgt u beknopte verantwoordingsstaat en de saldibalans van het Ministerie van Landbouw, Natuur en voedselkwaliteit per 31-12-2007. Op basis van deze saldibalans en verantwoordingsstaat wil ik u een 15 tal vragen stellen.

De enquête is in Word gemaakt, u mag met een andere kleur, bold of cursief uw antwoord selecteren (als het maar duidelijk is) en eventuele op of aanmerkingen erbij zetten. U mag dit dan weer retourneren naar onderstaand e-mail adres (of reply drukken).

De enquêtes zullen anoniem blijven.

Alvast bedankt voor uw moeite.

Met vriendelijk groet,

Nicolette de Troye

njdetroye@yahoo.com

Enquête vragen t.b. v. kasstelsel

A.d.h.v. de verantwoordingsstaat en de saldibalans van het Ministerie van Landbouw, Natuur en Voedsel kwaliteit per 31-12-2007 willen we u de volgende vragen voorleggen

1. Wat is het resultaat cf de verantwoordingsstaat 2007

a) 1,8 miljoen

b) 188 miljoen

c) 1.887 miljoen

d) 32 miljoen

2. Hoe hoog is de begrotingsoverschrijding in 2007

a) 101 miljoen

b) 134 miljoen

c) 33 miljoen

d) 235 miljoen

3. Als u kijkt naar de saldibalans, wat is de inhoud van de rekening courant RIC van 2.175 miljoen?

a) De schulden welke het departement heeft openstaan bij derden

b) De kasmutaties opgesteld door de afdeling rijksbegrotinginformatiecentrum

c) De ontvangsten welke het departement heeft openstaan bij derden

4. Zijn de cijfers duidelijk voor u, begrijpt u wat u leest (hypothese 1)

a) Nee, niet duidelijk, ik begrijp niet echt wat er nu precies gebeurd is op financieel gebied dit jaar

b) Ja, wel duidelijk, ik begrijp wat de cijfers zeggen

c) Maakt niet uit, cijfers zijn altijd onduidelijk.

5. Als u kijkt naar de verantwoordingsstaat, zou u dan het budget voor landbouwproducten verhogen?

a) Ja

b) Nee

c) Geen idee

6. Als u kijkt naar de verantwoordingsstaat en de saldibalans, zou u dan een investering maken ten behoeve van de aanleg van wegen of gebouwen?

a) Ja

b) Nee

c) Geen idee

7. Als u kijkt naar de saldibalans en verantwoordingsstaat, zou u dan in meer effecten willen investeren?

a) Ja

b) Nee

c) Geen idee

8. Als u kijkt naar de verantwoordingsstaat zou u dan meer of minder willen investeren?

a) Meer

b) Minder

c) Geen idee

9. Zou u het beter vinden als de jaarrekening vanaf nu elk jaar wordt opgesteld via het baten en lasten stelsel, zou u daardoor meer begrip krijgen van de cijfers?

a) Nee

b) Ja

c) Maakt niet uit

10. Zo ja, zou u de investering willen maken om naar het baten en lasten stelsel over te gaan?

a) Nee

b) Ja

c) Licht eraan hoeveel we moeten investeren

In Australië is vastgesteld door een andere onderzoeker dat de invoering van het baten en lasten stelsel tot voordelen heeft geleid, maar dat de weg ernaar toe een aantal complicaties kent zoals dat werknemers klaar moeten zijn om met het systeem te werken, dat er in het begin 2 systemen naast elkaar moeten lopen om de overgang duidelijk te maken. Dit heeft geleid tot de volgende vraag; 

11. Zou u het de moeite waard vinden om te investeren in omscholing van personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leid waar gemeenten, provincies en het Rijk 1 systeem gebruiken?

a) Ja zeker

b) Ja, alleen als het niet te veel geld kost

c) Nee

d) Geen idee

12. In eerder onderzoek wordt vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel omdat de ondernemers in Nederland hier ook mee werken en men in het onderwijs meer met dit systeem werkt. Als u nu kijkt naar deze gegevens vindt u dit dan ook?

a) Ja

b) Nee

c) Geen idee

13. De positieve accounting theorie, op basis van Watts en Zimmerman, stelt betrokken te zijn bij het voorspellen van de keuzes van grondslagen voor financiële verslaggeving door bedrijfsleiders en hoe managers zullen reageren op het voorgestelde nieuwe standaarden voor jaarrekeningen. Hoe denkt u dat managers zullen reageren op de invoering van het baten en lasten stelsel?

a) Positief, want het geeft een veel beter inzicht in de cijfers

b) Negatief, want ze zijn dit niet gewend

c) Anders, want …..

14. De efficiënte markt hypothese stelt dat de investeerders op de markt als individuen reageren op veranderingen, investeerders kunnen heel heftig reageren of heel zwak reageren en de markt als geheel reageert op alle reacties van de individuen. Denkt u dat de invoering van het baten en lasten stelsel een andere reactie te weeg zal brengen bij de gebruikers van de jaarrekening en dat dit effect zal doorspelen op de begroting cijfers van volgende jaren?

a) Ja

b) Nee

c) Anders, …

15. In het IFAC rapport van 2007 staat vermeld dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel en dat het kan helpen bij het maken van beslissingen en dat het tot op zekere hoogte een verandering kan aanbrengen in de manier hoe dat managers werken. Als u nu zelf kijkt naar de gegevens die hierboven staan en naar al de andere informatie wat al is benoemd in de enquête, bent u het er dan mee eens wat in het IFAC rapport is geschreven?

a) Nee

b) Ja

c) Ligt eraan

Annex 6 Summary of prior research 

	Year
	Author (s)
	Object of study
	Sample
	Methodology
	Outcomes

	2005
	M. Peter van der Hoek
	From cash to accrual budgeting and accounting in the public Sector: The Dutch experience
	The elements used in this study are accountability
	This paper they have document the different international standards, the difference between budgeting and reporting systems in the public sector. In addition, they have document the experience in the Dutch public sector with budgeting and accounting systems. They have document these evidence in a case study
	Input-based budgeting systems and cash-based accounting systems do not provide information that governments need to operate efficiently and effectively. Accrual based accounting system provide better in singed.

	2003
	Nico P. Mol and Johan AM de Kruijf
	Accounting for Hybridity: Accrual budgeting in the Dutch central government
	The elements used in this study are ex ante and ex post information on profit and losses.
	In this paper, they have document the contradictions between budget accounting and commercial accounting; they have argued the relevance of these contradictions with respect to level of government with combined substantial powers. They have document these evidence in a case study
	The government cannot only use an accrual-based system. They have to perform on budget to get better insigne. Consequently, the Dutch government has to work with two systems equally together.

	2009
	Irvine Lapsley, Riccardo Mussari and Gert Paulsson
	On the Adoption of Accrual accounting in the public sector: A self-evident and problematic reform
	None
	literature review
	When moving over to accrual based accounting y a problem exists with the assets. They present a complete other view when based on cash committed system.

	2000
	Likierman
	Changes to managerial decision-taking in UK central government
	The elements used in this study are public accountability.
	Case -study
	The public will understand the information better when the accounting policy is based on accrual accounting. The public has the opportunity to question the figures and the basis on which they are used. More clarified understanding of this information has helped the UK in the decision to reform.

	2009
	M. Arnaboldi and I. Lapsley
	On the implementation of accrual accounting: A study of conflict and Ambiguity
	The elements used in this study are "NPM principles" like efficiency, effectiveness, transparency, and accountability.
	In this paper, they have document evidence, survey key informants, and undertake case studies. Using the "ambiguity - conflict model of implementation".
	The reason why implanting the accrual based system is so difficult by many governments is the lack of a clear explicit blueprint for policy implementers and little knowledge form the management at local governments

	2006
	C. Conolly and N. Hyndman
	The actual implementation of accruals accounting: Caveats from a case within the UK public sector
	They have tried to ascertain the principal benefits and drawbacks that have been experienced in the implementing accrual based resource accounting in the UK public sector
	Case -study/ literature review
	The implementation of the accrual-based accounting system will take a lot of time and will cost a lot. The result of the implementation in the UK is a complex and expensive system that has provided few benefits until now

	2009
	Ron Day
	Implementation of whole of government reports in Australian
	This article focuses on the lesson to be learnt from the 20-year history of implementation of WGRs (Whole of government’s reports) in Australia.
	In this paper they have looked at 20-year of different accounting concepts and standards. They have document the evidence and undertake case studies.
	It is clear from the Australian experience that effective implementation requires commitment to realistic objectives, timetables, and scales. Accounting systems need to be ready and able to cope with the collecting of the information required

	2009
	A. Barton
	The Use and Abuse of Accounting in the Public Sector Financial Management Reform Program in Australia
	This article reviews and appraises the reforms undertaken by the Australian government since 1976 to the present time.
	Different accounting reforms, efficiency and effectiveness in public sector organizations. The AASB Framework is usefulness to users. Normative method of analysis is used to determine what information is required by government to undertake his activities. Case-study
	The success of the total reform program has been mixed, having both positive and negative results. The advantage is more efficiency of resource use and better insight in the government financial position also. The negative side is that the accrual-based system is based on business practice and is inappropriate for the government.

	2009
	C.A. Buena-Bontas and M.C. Petre
	Arguments for introducing accrual based accounting in the public sector
	They have looked at different advantages and disadvantages. The elements they used are also the NPM principles.
	Case -study
	The main advantage is that accrual based accounting will give more insight into the financial position, only sometimes the budget is financially much more important than the financial statements. In addition, high costs are related to the implementation and the people skills have to be trained.


Annex 7 Interview questions
Bij het interview de verantwoordingsstaat (jaarrekening) en toelichting jaarrekening (LNV-pilot) sturen

1) Zijn de cijfers op basis van de LNV-pilot duidelijker dan die op basis van de jaarrekening?

2) Waarmee zou u eerder een beslissing nemen om een budget aan te passen, op basis van baten en lasten of kasstelsel?

3) De beslissing investeringen uit te voeren (wel/niet, op basis van baten en lasten of kasstelsel)?

4) Zou u het de moeite waard vinden te investeren in de omscholing van het personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leidt? Dat daardoor gemeenten, provincies en het Rijk gebruik maken van 1 financieel verantwoordingssysteem?

5) Omdat ondernemers in Nederland gebruik maken van het baten en lasten stelsel en dit systeem in het onderwijs wordt gedoceerd is in eerder onderzoek vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel. Bent u het eens met deze visie? 

6) In economische theorieën bestaat de opvatting dat managers reageren op wijzigingen in standaarden voor de financiële jaarverslaggeving. Op welke wijze, zullen naar uw verwachting, managers reageren op de eventuele invoering van het baten en lasten stelsel?

7) Op basis van economische theorieën reageren investeerders als individuen in de markt op gepubliceerde financiële informatie. Deze reacties kunnen heftig of zwak zijn afhankelijke van de informatiewaarde. Verwacht u dat de eventuele invoering van het baten en lasten stelsel tot een economische reactie zal leiden bij de gebruikers van de jaarrekening en dat dit effect zal hebben op de begrotingscijfers voor volgende jaren?

8) Voor de overheid is het cruciaal om met een budget te werken. In eerder onderzoek is vastgesteld dat met accrual based accounting een budget heel moeilijk is om mee te werken. Denkt u dat dit de belangrijkste reden is als overheid niet accrual based accounting toe te passen?

9) In het IFAC ( International Federation of Accountants) rapport van 2007 is gecommuniceerd dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel. Dat dit behulpzaam kan zijn bij beslissingen en dat het tot een verandering kan leiden in het beheersen door managers. Bent u het eens met dit standpunt?

Annex 8 summary of survey answers
De eerste drie vragen zijn afhankelijk van de enquête welke de respondenten hebben gekregen. Totaal 12 enquêtes retour ontvangen waarvan 9 baten en lasten stelsel en 3 kasstelsel.

De eerste drie vragen worden daarom hierna dubbel verantwoord, 1 maal op basis van antwoorden baten en lasten stelsel en 1 maal op basis antwoorden van kasstelsel.

Baten en lasten antwoorden:

1. Wat was de omvang van de totale kosten voor programma landschap en recreatie in 2007

a) 10 miljoen

b) 14 miljoen

c) 18 miljoen

d) 32 miljoen, 9 x geantwoord
2. Het eigen vermogen in 2006 is € 788.277 en in 2007 € 744.167 Waardoor is deze daling veroorzaakt?
a) Effecten

b) Directe vermogensmutatie (5.233), 2 x geantwoord
c) Resultaat 2007 (38.877), 9 x geantwoord
d) Geen idee

3. Wat is de oorzaak van het saldo Rekening –courant RHB ad € 477.888 in het kasstroomoverzicht per 1 januari 2007? 

Reactie van een respondent: Dit lijkt me gewoon een negatief saldo op een ‘bankrekening’ die je terugvindt als onderdeel van de kortlopende schulden. Je kunt dus niet zeggen dat de kortlopende schulden ‘de oorzaak’ zijn van het saldo.
a) De overige vorderingen

b) De liquide middelen

c) Het eigen vermogen

d) De kortlopende schulden, 9 x geantwoord
Kasstelsel antwoorden

1. Wat is het resultaat conform de verantwoordingsstaat 2007
a) 1,8 miljoen

b) 188 miljoen

c) 1.887 miljoen, 3 x geantwoord

d) 32 miljoen
2. Wat is de omvang van de begrotingsoverschrijding 2007
a) 101 miljoen

b) 134 miljoen

c) 33 miljoen

d) 235 miljoen

e) Vraag was niet duidelijk voor de respondenten, niet beantwoord

3. Wat is de inhoud van de balanspost rekening courant RIC?

a) De schulden van het departement aan derden

b) De kasmutaties opgesteld door de afdeling rijksbegrotinginformatiecentrum, 3 x geantwoord.

c) De vorderingen van het departement aan derden

4. Zijn de cijfers duidelijk voor u, begrijpt u wat u leest 
a) Nee, niet duidelijk, ik begrijp niet echt wat op financieel gebied in dit jaar heeft plaatsgevonden

b) Ja, wel duidelijk, ik begrijp wat de cijfers zeggen, 12 x geantwoord
c) Maakt niet uit, cijfers zijn altijd onduidelijk.

5. Zou u op basis van de staat van baten en lasten het budget voor landbouwproducten verhogen?

a) Ja, 3 x geantwoord
b) Nee, 7 x geantwoord met volgende toelichting niet op basis van de cijfers. Je kunt niet beoordelen of de overschrijding terecht is, laat staan of de bestedingen enig effect hebben gehad
c) Geen idee, 2 x geantwoord

6. Zou u op basis van de staat van baten en lasten een investering doen ten behoeve van de aanleg van wegen of gebouwen?

a) Ja

b) Nee, 10x geantwoord met volgende toelichting, dit betreft een jaarrekening van Landbouw, Natuur en Visserij. Die leggen geen wegen aan

c) Geen idee, 2x geantwoord

7. Zou u op basis van de balans, de staat van baten en lasten en het kasstroomoverzicht, meer in effecten investeren als financiële vaste activa?

a) Ja

b) Nee, 10x geantwoord met volgende toelichting, het bedrijf ‘LNV’ heeft geen enkele baat bij het houden van effecten
c) Geen idee, 2x geantwoord

8. Zou u op basis van het kasstroomoverzicht meer of minder willen investeren?

a) Meer, 2x geantwoord

b) Minder, 2x geantwoord

c) Geen idee, 8x met volgende toelichting, de operationele kasstroom is positief. De liquide middelen zijn echter erg laag. Het is mij niet duidelijk wat er verstaan wordt onder ‘overlopende activa’. Als die eenvoudig liquide te maken zijn kun je eventueel investeren.
9. Als de jaarrekening vanaf nu ieder jaar wordt opgesteld via het baten en lasten stelsel, krijgt u daardoor meer begrip van de cijfers?
a) Nee

b) Ja, 10x met volgende toelichting, maar dat heeft ook te maken met het feit dat deze opstelling voor mij als voormalig bedrijfsman leesbaar is. En overheidsbegroting ziet er geheel anders uit en is moeilijker leesbaar.

c) Maakt niet uit, 2x geantwoord
Door een andere onderzoeker is in Australië vastgesteld dat de invoering van het baten en lasten stelsel tot voordelen heeft geleid. Maar dat de weg daartoe met een aantal complicaties is geconfronteerd zoals het feit dat werknemers geïnstrueerd moesten zijn teneinde met het systeem te kunnen werken. En dat in het begin 2 systemen naast elkaar moesten bestaan teneinde de overgang duidelijk te maken. Dit heeft tot de volgende vraag geleid; 

10. Vindt u het de moeite waard te investeren in de omscholing van het personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leidt en dat daardoor gemeenten, provincies en het Rijk gebruik maken van 1 financieel verantwoordingssysteem?

a) Ja zeker, 4x geantwoord
b) Ja, uitsluitend indien dit niet te veel geld kost, 5x geantwoord

c) Nee, 3x geantwoord

d) Geen idee

11. Omdat ondernemers in Nederland gebruik maken van het baten en lasten stelsel en dit systeem in het onderwijs wordt gedoceerd is in eerder onderzoek vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel. Bent u het eens met deze visie? 
a) Ja, 9x geantwoord
b) Nee, 3x geantwoord

c) Geen idee

12. In economische theorieën bestaat de opvatting dat managers reageren op wijzigingen in standaarden voor de financiële jaarverslaggeving. Op welke wijze, zullen naar uw verwachting, managers reageren op de eventuele invoering van het baten en lasten stelsel?
a) Positief, het geeft een veel beter inzicht in de cijfers, 3x geantwoord

b) Negatief, 9x met volgende toelichting, want ze zijn dat niet gewend maar ook omdat ze meer afrekenbaar zijn.
c) Anders, want …..

13. Op basis van economische theorieën reageren investeerders als individuen in de markt op gepubliceerde financiële informatie. Deze reacties kunnen heftig of zwak zijn afhankelijke van de informatiewaarde. Verwacht u dat de eventuele invoering van het baten en lasten stelsel tot een economische reactie zal leiden bij de gebruikers van de jaarrekening en dat dit effect zal hebben op de begrotingscijfers voor volgende jaren?
a) Ja, 9x geantwoord met volgende toelichting, er zal beter gekeken worden naar het rendement op investeringen
b) Nee, 2x geantwoord

c) Anders, 1x geantwoord (geen idee)

14. In het IFAC ( International Federation of Accountants) rapport van 2007 is gecommuniceerd dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel. En dat dit behulpzaam kan zijn bij beslissingen en dat het tot een verandering kan leiden in het beheersen door managers. Bent u het eens met dit standpunt?

a) Nee, 4x geantwoord

b) Ja, 8x geantwoord
c) Is afhankelijk van 

15. Voor de overheid is het cruciaal om met een budget te werken, in eerder onderzoek is vastgesteld dat met accrual based accounting een budget heel moeilijk is om mee te werken. Denkt u dat dit de belangrijkste reden is als overheid niet accrual based accounting toe te passen?

a) Nee, 10x geantwoord met volgende toelichting, de overheid is vergelijkbaar met een onderneming. Baten, lasten, bezittingen en schulden. Ik heb echt geen idee waarom de overheid zo werkt.
b) Ja, 2x geantwoord

c) Is afhankelijk van 

Annex 9 interview answers
Interview1

Anton-Eelco Gerritsma, director PwC (binnenlands bestuur)

Datum 17-10-2011, Den Haag

1a) Zijn de cijfers op basis van de LNV-pilot duidelijk?

De cijfers zijn zeer herkenbaar voor iemand uit het bedrijfsleven, een heldere structuur

1b) Zijn de cijfers op basis van de jaarrekening duidelijk?

Voor iemand die weet hoe je dit moet lezen is het duidelijk, verder niet. De balans is onduidelijk, deze geeft niet direct het inzicht dat noodzakelijk is bij een jaarrekening.

2a) Zou je op basis van de verantwoordingsstaat bijvoorbeeld het budget voor landbouwproducten aanpassen?

Het enige wat op basis van de verantwoordingsstaat vastgesteld kan worden of binnen een bepaald budget is gehandeld, op deze cijfers kunnen geen beleidbepalende beslissingen genomen worden. Als een dergelijke beslissing genomen moet worden dan moet eveneens de gehele toelichting beschikbaar zijn en dan nog zou ik op basis daarvan geen beslissing nemen.

2b) Zou je op basis van de staat van baten en lasten het budget aanpassen?

Eveneens niet, daarbij moet eveneens niet-financiële informatie beschikbaar zijn voor dergelijke beslissingen te nemen. Ik heb echter wel meer inzicht bij de uitgaven apparaten in het baten en lasten stelsel.

3) En investeringen maken (wel/niet, op basis van baten en lasten of kasstelsel)?

Het baten en lasten stelsel is inzichtelijker, wat zijn werkelijke kosten en niet zozeer de uitgaven. Investeringen worden bijvoorbeeld over 20 jaar verdeeld en niet in 1 keer worden de uitgaven verantwoord zoals in kasstelsel. Teneinde het verkrijgen van inzicht betreffende een investering is een beslissing beter mogelijk op basis van het baten en lasten stelsel.

Feitelijk moet de business anders verantwoord worden investeringen, bijvoorbeeld uitsluitend bepaalde elementen gebruiken is minder informatie betreffende de investeringen maar de informatie en toelichtingen worden duidelijker.

1. Sluit beter aan bij keuzen baten ten opzichte van de lasten

2. Beter inzicht lasten

3. Beter inzicht in tekort/overzicht rijk

Uiteindelijk zou ik dan de beslissing te investeren uitvoeren.

4) Zou u het de moeite waard te investeren in de omscholing van het personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leidt. En dat daardoor gemeenten, provincies en het Rijk gebruik maken van 1 financieel verantwoordingssysteem?

Gemeente en provincies zijn BBV, baten en lasten

Rijk is kasstelsel, eenvoudig systeem. Met dit systeem is niet snel de link leggen tussen de provincies en de gemeenten.

1 systeem maakt het leesbaarder/herkenbaarder. Het is de harmonisatie van de cijfers, het biedt veel voordelen als alles via 1 financieel verantwoordingsysteem verantwoord en de gegevens zijn meer herkenbaar. Een buitenstaander herkent alles in 1 oogopslag omdat ze dezelfde taal spreken (baten en lasten stelsel). Zie het als IFRS, vergelijking eenvoudiger tussen bijvoorbeeld Nederlandse en Spaanse ondernemingen.

Technisch is het niet noodzakelijk omdat geen consolidatie wordt uitgevoerd met de jaarrekeningen van de provincies en het Rijk, echter indien alle Euro landen 1 uniform systeem toepassen dan is de begrotingsdiscipline verdwenen, zie bijvoorbeeld Griekenland.

5) Omdat ondernemers in Nederland gebruik maken van het baten en lasten stelsel en dit systeem in het onderwijs wordt gedoceerd is in eerder onderzoek vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel. Bent u het eens met deze visie? 

Ja, zie voorgaande antwoorden

6) In economische theorieën bestaat de opvatting dat managers reageren op wijzigingen in standaarden voor de financiële jaarverslaggeving. Op welke wijze, zullen naar uw verwachting, managers reageren op de eventuele invoering van het baten en lasten stelsel?

Ze zullen op een andere manier naar de kosten gaan kijken. 

De gedachte van bestaat ruimte in de begroting voor x aantal jaren zal blijven bestaan, echter zal dit anders worden beïnvloed doordat meer inzicht in de kosten bestaat Het effect op de langere termijn zal meer zichtbaard worden door de activeringen.

Mijn verwachting is dat het blikveld verder reikt, de horizon reikt verder dan het effect van 1 jaar.

Meer helderheid in beleid voor x aantal jaren, in het bijzonder innovatie en investeringen, de piek wordt in de tijd verdeeld.

Voor het reguliere en het bestaande beleid bestaat niet veel verschil, daarom zal de invoering niet veel effect hebben.

6) Op basis van economische theorieën reageren investeerders als individuen in de markt op gepubliceerde financiële informatie. Deze reacties kunnen heftig of zwak zijn afhankelijke van de informatiewaarde. Verwacht u dat de eventuele invoering van het baten en lasten stelsel tot een economische reactie zal leiden bij de gebruikers van de jaarrekening en dat dit effect zal hebben op de begrotingscijfers voor volgende jaren?

In de huidige tijd wordt de informatie veel meer gebruikt voor de kredietwaardigheid van een land. De gebruikers hebben echter geen invloed op de begroting, managers bewaken meer het tekort en het effect daarvan op de begroting. Het is niet zozeer de gebruiker die een reactie communiceert maar de opsteller van de jaarrekening.

Door het toepassen van IPSAS is direct het effect zichtbaar op de financiële positie in de balans, op deze wijze is het moeilijker de cijfers te flatteren (zie bijvoorbeeld Griekenland). Het is met deze huidige setting interessant het effect te onderzoeken van de beslissingen op de langere termijn, het toepassen van IPSAS is behulpzaam teneinde meer inzicht te verkrijgen in de financiën van een land. 

7) Voor de overheid is het cruciaal om met een budget te werken, in eerder onderzoek is vastgesteld dat met accrual based accounting een budget heel moeilijk is om mee te werken. Denkt u dat dit de belangrijkste reden is als overheid niet accrual based accounting toe te passen?

Het is lastiger dan het toepassen van een uitgaven budget, echter ondernemingen werken eveneens met begrotingen een budget moet daardoor mogelijk zijn. Het kasstelsel stimuleert echter niet een budget voor de langere termijn op te stellen, dit doet het baten en lasten stelsel wel.

8) In het IFAC ( International Federation of Accountants) rapport van 2007 is gecommuniceerd dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel. En dat dit behulpzaam kan zijn bij beslissingen en dat het tot een verandering kan leiden in het beheersen door managers. Bent u het eens met dit standpunt?

Ja, zie voorgaande antwoorden

Interview 2

Bas Wakkerman, Director PwC, internal audit services (public sector)

Datum 1-2-2012

De heer Wakkerman is een voorstander van het baten en lasten stelsel, echter heeft hij kanttekeningen bij het feit of daardoor het geld beter wordt beheerd en of je projecten beter beheerst kunt worden.

Betreffende het beheer en het onderhoud van de activa is het nuttig het baten en lasten stelsel toe te passen. Zie bijvoorbeeld de rijksweg, deze is eigendom van het Rijk, echter beheert Rijkswaterstaat het onderhoud en in hun jaarrekening worden de onderhoudskosten geactiveerd en over meerdere jaren afgeschreven.

Een belangrijke kanttekening bij het invoeren van IPSAS is dat de effectiviteit niet meetbaar is en daardoor niet vastgesteld kan worden of deze is verbeterd door een ander systeem toe te passen.

Het kostprijsstelsel helpt de kostprijs allocatie beter te presenteren. Dit systeem biedt informatie over de kostenbeheersing en de effectiviteit, de invoering van het baten en lasten stelsel bevat niet per definitie deze informatie.

De te beantwoorden vraag bestaat daardoor welke problemen oplost worden door de invoering van het baten en lasten stelsel?

IPSAS wordt langzaam internationaal toegevoegd aan landen waar nog geen verslaggevingseisen bestaan, Nederland gebruikt dit echter nog niet.

Zou het bij de crisis behulpzaam zijn geweest, zoals de toelating van Griekenland? IPSAS is als IFRS, de banken hebben de wereld eveneens voorgelogen, waarom zouden landen dat niet op basis van IPSAS eveneens niet kunnen.

Het toepassen van het kasverplichtingen stelsel ervaar ik daarom als eenvoudiger indien het projectgelden / beheersen betreft, bij IPSAS (baten en lasten stelsel) is dit minder eenvoudig vast te stellen.

1a) Zijn de cijfers op basis van de LNV-pilot duidelijk?

Ik heb meer inzicht bij de LNV-pilot, maar wat zeggen de cijfers? Het EV daalt, en sprake is van een exploitatieverlies, wat is de informatie daarvan? Wellicht is geïnvesteerd op de langere termijn.

1b) Zijn de cijfers op basis van de jaarrekening duidelijk?

In eerste instantie niet, maar een kas/verplichtingen stelsel is eenvoudig toe te passen en te begrijpen. Het is minder gebruikelijk dit toe te passen.

2a) Zou je op basis van de verantwoordingsstaat bijvoorbeeld het budget voor landbouwproducten aanpassen?

Daardoor moet meer gedacht worden in projectbudgetten, veel meer informatie is noodzakelijk dan in de jaarrekening gepresenteerd wordt te beslissen over een budgetaanpassing of over een investering.

2b) Zou je op basis van de staat van baten en lasten het budget aanpassen?

Zie antwoord hierboven bij 2a

3) En investeringen maken (wel/niet, op basis van baten en lasten of kasstelsel)?

Zie antwoord hierboven bij 2a

4) Zou u het de moeite waard te investeren in de omscholing van het personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leidt. En dat daardoor gemeenten, provincies en het Rijk gebruik maken van 1 financieel verantwoordingssysteem?

Agentschappen hebben eveneens variëteit in het jaarrekeningenrecht, dit zou wel uniform moeten worden want dan zou dit voor onder meer het CBS het eenvoudiger maken de gegevens te bewerken als alle agentschappen 1 systeem toepassen, zoals IPSAS.

De Rijksoverheid hoeft niet per definitie over 1 uniform systeem te beschikken of veel geld moet beschikbaar zijn dit te kunnen realiseren.

5) Omdat ondernemers in Nederland gebruik maken van het baten en lasten stelsel en dit systeem in het onderwijs wordt gedoceerd is in eerder onderzoek vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel. Bent u het eens met deze visie? 

Ja

6) In economische theorieën bestaat de opvatting dat managers reageren op wijzigingen in standaarden voor de financiële jaarverslaggeving. Op welke wijze, zullen naar uw verwachting, managers reageren op de eventuele invoering van het baten en lasten stelsel?

Deze vraag moet feitelijk gesteld worden aan de agentschappen, deze hebben destijds de keuze uitgevoerd. Volgens is meer sprake van cultuurveranderingen, een groter besef ontstaat over het antwoord op de vraag wat de kosten en opbrengsten zijn.

Het Staatsbosbeheer moet de eigen exploitatie waarborgen omdat het ministerie van Landbouw niet langer subsidie verstrekt. Staatsbosbeheer heeft echter geen idee welke activiteiten van hen winst of verlies genereren, en daardoor weten ze niet op welke wijze ze omzet kunnen genereren.

Indien door het baten en lasten stelsel wel meer inzicht in de cijfers ontstaat, dan weet Staatsbosbeheer misschien wel op welke winst of verlies gegenereerd wordt.

7) Op basis van economische theorieën reageren investeerders als individuen in de markt op gepubliceerde financiële informatie. Deze reacties kunnen heftig of zwak zijn afhankelijke van de informatiewaarde. Verwacht u dat de eventuele invoering van het baten en lasten stelsel tot een economische reactie zal leiden bij de gebruikers van de jaarrekening en dat dit effect zal hebben op de begrotingscijfers voor volgende jaren?

Nee, niet bij investeerders.

Bij managers wel, zie bij de LNV-pilot, verlies van 38k waardoor is dat ontstaan, waar moet bezuinigd worden teneinde niet met een verlies geconfronteerd te worden.

Sprake is van vraag en aanbod, hogere tarieven vragen als opdrachtgever leidt tot meer opbrengst.

Echter is bij het Rijk de opdrachtgever en de eigenaar dezelfde persoon, dus kiest de ene voor hogere tarieven teneinde het verlies te voorkomen en de andere voor lagere kosten. Als gevolg deze verhoudingen bestaat een soort monopoly positie, geen nieuwe markt kan worden gecreëerd met de invoering van het baten en lasten stelsel omdat vraag en aanbod dezelfde persoon betreffen, uitsluitend een cursus boekhouden beschikbaar stellen over op welke wijze de verantwoording moet zijn op basis van het baten en lasten stelsel in plaats van op basis van het kasstelsel.

De agentschappen en het CJB hebben wel meerdere opdrachtgevers, daar kan wel een nieuwe markt gecreëerd worden en ontstaat wel nut door de invoering van het baten en lasten stelsel.

8) Voor de overheid is het cruciaal om met een budget te werken, in eerder onderzoek is vastgesteld dat met accrual based accounting een budget heel moeilijk is om mee te werken. Denkt u dat dit de belangrijkste reden is als overheid niet accrual based accounting toe te passen?

Nee, bedrijven maken eveneens gebruik van een budget.

9) In het IFAC ( International Federation of Accountants) rapport van 2007 is gecommuniceerd dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel. En dat dit behulpzaam kan zijn bij beslissingen en dat het tot een verandering kan leiden in het beheersen door managers. Bent u het eens met dit standpunt?

Neem als voorbeeld de joint strike fighter, de discussie bestaat wanneer deze aangeschaft moet worden. De beslissing wordt onderbouwd door de kosten, in dat geval is sprake van cost accounting en niet van een baten en lasten stelsel. Als gevolg daarvan is het voor de beheersing door de manager niet relevant.

Het betreft veel het toepassen van goede begrotingen en goede budgetten. Bij de helikopters die uiteindelijk vele malen duurder waren betrof dit in het bijzonder de budgethouder en dat had niet voorkomen kunnen worden als het baten en lasten stelsel was toegepast.

Dat de HSL duurder is geworden is het gevolg van de politieke besluitvorming en had niet voorkomen kunnen worden.

Interview 3

Thomas van Tiel, ministerie van financiën.

d.d. 15-2-2012

Te Den Haag.

In 2005 is de heer van Tiel bij het ministerie van financiën gestart, daarvoor werkte hij bij Deloitte gewerkt. Hij was betrokken bij de LNV-pilot.
Van 2006 tot 2011 was hij adviseur voor de heer Frans van Schaik en was hij betrokken bij het opstellen van de accounting rules op basis van IPSAS.

Hij is nu werkzaam bij de Rijksaudit dienst, sinds de LNV-pilot bestaan in Nederland betreffende de IPSAS geen nieuwe ontwikkelingen.

Wel bestaan veel ontwikkelingen in Europa die het gevolg zijn van de eurocrisis. Eurostat (de instantie waar alle lidstaten hun cijfers aan verstrekken) is fors tekort geschoten en dat heeft geleid tot de Europese commissie 2010. Eerste voorstel tot hervorming is het voorstel voor de begroting en verantwoording stelsels betreffende het door alle lidstaten toepassen van de IPSAS.

IPSAS wordt bijvoorbeeld in Frankrijk al voor 90% toegepast, eveneens worden alle nieuwe lidstaten direct verplicht IPSAS toe te passen. De Raad van ministers heeft besloten een onderzoek uit te voeren gericht op de toepassing van IPSAS, echter nog niet is besloten IPSAS voor 100% toe te passen. Het onderzoek staat onder leiding van Eurostat.

1a) Zijn de cijfers op basis van de LNV-pilot duidelijk?

Voordat ik werkzaam was bij financiën was ik nog nooit met het kasstelsel geconfronteerd altijd met het baten en lasten stelsel, tijdens de opleiding accountancy is eveneens altijd gebruik gemaakt van het baten en lasten stelsel, dat is daarom voor mij het meest duidelijk.

Het baten en lasten stelsel omvat eveneens het kasstroomoverzicht, uiteindelijk biedt dit meer informatie dan een kasstelsel, schulden, bezittingen en kasstromen.

Echter of het baten en lasten stelsel bij een overheid die nauwelijks investeringen heeft, een meerwaarde heeft, betwijfel ik. Bijvoorbeeld IPSAS 23 betreft subsidies, dit zijn jaarlijkse uitgaven en kosten behoudens indien langdurende subsidies zijn verstrekt, bij dit soort subsidies zou een baten en lasten stelsel meer inzicht bieden.

1b) Zijn de cijfers op basis van de jaarrekening duidelijk?

Zie antwoord 1a

2a) Zou je op basis van de verantwoordingsstaat bijvoorbeeld het budget voor landbouwproducten aanpassen?

Voor investeringen en budgetaanpassingen op basis van kasverplichtingen is meer informatie noodzakelijk dan uitsluitend de kasramingen, met kasstelsel bestaat de mogelijkheid zich rijker rekenen dan in de werkelijkheid het geval is. Met een baten en lasten stelsel is het veel moeilijker vreemde contracten en constructies toe te passen.

Bijvoorbeeld bestaat de situatie op basis van het kasstelsel dat de schuld aan derden en de lasten van onderhoud tegen elkaar kunnen wegvallen, daardoor lijkt alsof geen geld wordt besteed aan grote investeringen.

Bijvoorbeeld, grote investeringen blijken achteraf minder gelukkig (Betuwelijn). In het kasstelsel wordt deze investering niet langer in de lopende cijfers verantwoord, deze uitgaven betreffen het verleden en de kosten worden daardoor niet in het heden verantwoord. Stel op basis van baten en lasten, investering activeren en op moment dat minder treinen blijken te rijden dan gedacht is sprake van een waardevermindering, daardoor afwaarderen in de balans.

Daarmee wordt aan de Kamer inzichtelijk gemaakt dat geen goede investering is uitgevoerd en volgt een debat. Bij het kasstelsel wordt eveneens wel een debat gevoerd echter de cijfers zijn minder tastbaar en worden snel vergeten, daardoor heeft niemand feitelijk inzicht in wat het project uiteindelijk heeft gekost of heeft opgeleverd.

Toekomstgericht zou ik veel eerder beslissen op basis van het baten en lasten stelsel dan op basis van het kasstelsel, echter altijd veel meer informatie noodzakelijk dan uitsluitend de jaarrekening en de toelichting.

2b) Zou je op basis van de staat van baten en lasten het budget aanpassen?

Zie antwoord 2a

3) En investeringen maken (wel/niet, op basis van baten en lasten of kasstelsel)?

Zie antwoord 2a

4) Zou u het de moeite waard vinden te investeren in de omscholing van het personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leidt. En dat daardoor gemeenten, provincies en het Rijk gebruik maken van 1 financieel verantwoordingssysteem?

Het is uitsluitend de moeite waard als echt beslist wordt IPSAS in te voeren en het verplicht wordt dat toe te passen. Als het niet hoeft, moeten daar geen kosten voor gemaakt worden, het kasstelsel is eenvoudig teneinde dit toe te passen.
Echter de voor-, en nadelen kunnen niet met elkaar gewogen worden, een goede administratie moet bestaan voor de buitenwereld en voor de minister, dit kan eveneens op basis van het kasstelsel. Als je niet overtuigd van het nut van de wisseling is iedere euro teveel

5) Omdat ondernemers in Nederland gebruik maken van het baten en lasten stelsel en dit systeem in het onderwijs wordt gedoceerd is in eerder onderzoek vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel. Bent u het eens met deze visie? 

Een kasboekje begrijpen is simpeler, denk aan de administratie bij de mensen thuis. Een groot deel van het publiek zal meer begrijpen van het baten en lasten stelsel het andere deel niet. Niet voor niets bestaat een jarenlange opleiding teneinde de cijfers te kunnen lezen en begrijpen.

De meeste mensen moeten gebruik maken van een bedrijfsanalist teneinde de cijfers op basis van het baten en lasten stelsel te kunnen toepassen.

Heel veel landen waar het baten en lasten stelsel wordt ingevoerd maken nog gebruik nog een begroting op basis van het kasstelsel, een afrekening op basis van kasstelsel, maar een jaarrekening op basis van het baten en lasten stelsel. Zie bijvoorbeeld de Europese commissie, deze maken gebruik van hetzelfde principe.

6) In economische theorieën bestaat de opvatting dat managers reageren op wijzigingen in standaarden voor de financiële jaarverslaggeving. Op welke wijze, zullen naar uw verwachting, managers reageren op de eventuele invoering van het baten en lasten stelsel?

Neem bijvoorbeeld de AOW, moet je deze schuld in de balans verantwoorden? Het FASB (Amerikaans) heeft een onderzoek uitgevoerd over hoe het sociaal zekerheidsstelsel in de jaarrekening verantwoord moet worden, de meerderheid communiceert niet passiveren. Destijds communiceerde de Bush Administrateur “vergeet het maar”, als je dit toepast is het land op papier failliet.

Een ander voorbeeld is het pensioenstelsel in Nederland.

Shell wil naar een defined contribution plan teneinde op papier betere cijfers te presenteren. Dit zou bij de overheid eveneens relevant kunnen zijn, de overheid is echter de risicodrager voor de ABP pensioenen.

Als het baten en lasten stelsel wordt ingevoerd wat betekent dit voor het inzicht in de pensioenen als daardoor een veel grotere schuld in de balans verantwoord moet worden. 

Door al deze overwegingen en de stijging van de schulden indien het baten en lasten stelsel wordt ingevoerd, verwacht ik dat managers zullen nadenken dit wel/niet toe te passen.

Wijzigingen op basis van kasstelsel bestaan eveneens. Als dit nadelige wijzigingen betreffen wordt daar zuur op gereageerd evenals in het bedrijfsleven. Ik verwacht echter dat de impact groter zal zijn bij het baten en lasten stelsel dan bij het kasstelsel omdat bij het kasstelsel het moment van de uitgaven en de ontvangsten gelijk is en daardoor minder merkbaar is in de cijfers.

7) Op basis van economische theorieën reageren investeerders als individuen in de markt op gepubliceerde financiële informatie. Deze reacties kunnen heftig of zwak zijn afhankelijke van de informatiewaarde. Verwacht u dat de eventuele invoering van het baten en lasten stelsel tot een economische reactie zal leiden bij de gebruikers van de jaarrekening en dat dit effect zal hebben op de begrotingscijfers voor volgende jaren?

Ja, die bestaan, zie AOW en pensioen voorbeeld.

De gebruiker van de jaarrekening van het ministerie van Landbouw is de Tweede Kamer. De Tweede kamer zal zeker andere beslissingen uitvoeren.

Ik verwacht dat zelfs een kleine reactie in het stemgedrag van de mensen, niet heel veel omdat de meeste mensen uitgaan van mooie beloften die in de toekomst liggen en niet kijken naar wat is uitgevoerd.

8) Voor de overheid is het cruciaal om met een budget te werken, in eerder onderzoek is vastgesteld dat met accrual based accounting een budget heel moeilijk is om mee te werken. Denkt u dat dit de belangrijkste reden is als overheid niet accrual based accounting toe te passen?

Nee, het budget kan op basis van het kasstelsel blijven.

De overweging is meer de kosten die dit veroorzaakt. Het is daarom gewenst het niet in te voeren omdat het zoveel kosten en moeite veroorzaakt.

Maar als een begroting op basis van het baten en lasten stelsel opgesteld moet worden is dit in het begin lastig, echter dat is een gewenningsproces, zie bij de gemeenten, daar zijn de mensen daar eveneens aan gewend.

9) In het IFAC ( International Federation of Accountants) rapport van 2007 is gecommuniceerd dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel. En dat dit behulpzaam kan zijn bij beslissingen en dat het tot een verandering kan leiden in het beheersen door managers. Bent u het eens met dit standpunt?

Ja.

Interview 4

Mijnheer Wijntjes (Commissie BBV, jaarverslaggeving gemeenten)

d.d. 21-2-2011

Was werkzaam bij PwC, is vervolgens bij grote gemeente gaan werken teneinde daar de overgang te monitoren van het kasstelsel naar het baten en lasten stelsel.

Nu werkzaam voor de Provincie Zuid-Holland in de commissie BBV

Volgens mij is Nederland meer principle based dan rule based, daardoor is de invoering van IPSAS nog niet mogelijk gegeven de grote verschillen in uitgangspunten.

De BBV is een stelsel van baten en lasten, maar meer stelsels bestaan. De visie is dat de BBV HET stelsel is maar dat is niet zo, het is ten eerste anders dan de baten en lasten dat in het bedrijfsleven toegepast wordt en ten tweede bestaan verschillende versies, ieder agentschap heeft zijn eigen stelsel, dat is afhankelijk van de typologie.

Daarom is het toepassen van 1 uniform stelsel op basis van IPSAS niet handig.
De Comptabiliteitswet (CB-wet) gaat uit van het toepassen van het kasstelsel, maar eveneens bestaan uitzonderingen die het baten en lasten stelsel toepassen.

ZBO’s zijn afzonderlijke zelfstandigen in het publieksrecht, deze mogen baten en lasten toepassen die zijn gericht op die in het BBV. Ze zijn vrij in hun keuze, indien de verantwoordingssystemen in het bedrijfsleven beter van toepassing zijn, dan mogen deze toegepast worden.

Het Burgerlijk Wetboek bevat eveneens vele mogelijkheden van het baten en lasten stelsel, dat is afhankelijk van de typologie. In de BBV is dat niet anders. De typologieën bij de overheid zijn te onderscheiden in onder meer “inkomensbestedend / verdelend”, dit betreft onder meer provincies, waterschappen, en gemeenten. Een andere typologie is “inkomensverwervend”, dit betreft onder meer een universiteit bij de eerste typologie wordt geld ontvangen en wordt dat herverdeeld bij de tweede bestaat uitsluitend inkomsten vanuit het Rijk (wettelijk collegegeld) en wordt dit niet herverdeeld.
Baten en lasten zijn het gevolg van goed koopmansgebruik. Vroeger was de stad Amsterdam de hoofdstad van Nederland waar alle administratie uitgevoerd werd en deze maakte gebruik van een baten en lasten systeem. Toen kwam de Franse invloed naar Nederland en kregen alle afzonderlijke staten een kasstelsel. Tot 1982 hadden de gemeenten het kasstelsel (de begroting) met daaronder de verschillende “bedrijven” op basis van het baten en lasten stelsel. Na 1982 is het baten en lasten stelsel vanuit het bedrijfsleven toegepast bij de gemeenten en moest eveneens de begroting op basis van het baten en lasten opgesteld worden. 

De gemeenten gaan steeds meer bedrijfsmatig opereren, het was daarom belangrijk dat in 1982 voor het volledige baten en lasten stelsel is gekozen. In de jaren 90 van de vorige eeuw is de BBV toegepast speciaal gericht op de publieke sector.

Omdat deze overheid budget gestuurd is, is het invoeren van het baten en lasten stelsel voor de centrale overheid moeilijker, als gevolg daarvan bestaat geen voordeel het baten en lasten stelsel toe te passen. Ze moeten hun activiteiten uitvoeren met behulp van het toegekende budget.

Wereldwijd wordt gewerkt aan een Conceptual Framework (IPSAS), maar wat is het wezen van de overheid. Op basis van de LNV-pilot is gebleken dat dit tot teveel kosten leidt, dit functioneert niet. Het enige object waar het baten en lasten stelsel goed kan functioneren is bij de grondbedrijven.

1) Zijn de cijfers op basis van de LNV-pilot duidelijker dan die op basis van de jaarrekening?

Het kasstelsel is in de Rijksomgeving beter te begrijpen. Voor de onderliggende diensten/bedrijven zou ik het baten en lasten stelsel kiezen.

Het kasstelsel is simpel, voorts is het prima doordat de overheid budget gedreven is.

Sprake is van weinig verschil.

2) Waar zou je eerder een beslissing nemen om een budget aan te passen, op basis van baten en lasten of kasstelsel?

Eveneens dienaangaande bestaat geen verschil, het budget of een investering wordt onder meer gedreven vanuit de behoeften, kansen en de politiek.

Nieuwe projecten worden eerder uitgevoerd dan vervangingsinvesteringen. Bij nieuwe projecten is sprake van naamsbekendheid doordat dit in de krant wordt gesignaleerd, bij vervangingen is dit niet het geval. Daardoor zullen de mensen eerder kiezen voor nieuwe projecten in plaats van voor vervangingen. Je hebt 1 budget voor de vervanging.

Wel kan het helpen het baten en lasten stelsel toe te passen bij de interne afwegingen. Bijvoorbeeld destijds is in Amsterdam is het rioolstelsel vervangen, de gemalen zijn toen geautomatiseerd. 

De overweging was of ze wel of niet geautomatiseerd moesten worden. Destijds is een goede afweging uitgevoerd tussen de kosten en de capaciteit en op basis daarvan is besloten dit wel te doen. Dit betroffen bedrijfseconomische afwegingen die niet begrotingsgericht waren. 

Op basis daarvan blijkt dat het baten en lasten stelsel behulpzaam kan zijn bij de stimulering van effectief werken en het geld goed te besteden Dit is meer een cultuur aspect mensen daarmee te leren werken en niet uitsluitend het budget en de begroting van een jaar in de besluitvorming te betrekken.

3) En investeringen maken (wel/niet, op basis van baten en lasten of kasstelsel)?

Zie antwoord hiervoor 
4) Zou u het de moeite waard vinden te investeren in de omscholing van het personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leidt. En dat daardoor gemeenten, provincies en het Rijk gebruik maken van 1 financieel verantwoordingssysteem?

Eerst zou ik moeten wat het betreft en wat de omvang van de kosten is.

Harmonisatie van onder af is mijn eerste optie. Zie het zo dat bijvoorbeeld de architectuur van alle gebouwen gelijk is. De kleur en de bouwstenen zijn anders maar de architectuur is hetzelfde. Daarom moet eerst de bouwplaats gelijk gemaakt worden, daardoor komt al meer harmonisatie van onder af.

5) Omdat ondernemers in Nederland gebruik maken van het baten en lasten stelsel en dit systeem in het onderwijs wordt gedoceerd is in eerder onderzoek vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel. Bent u het eens met deze visie? 

Ja, voor het publiek dat op school het baten en lasten stelsel is gedoceerd wel. 

Maar simpelheid en eenvoud is alles wat de overheid beoogt, daardoor sluit het kasstelsel beter aan dan het baten en lasten stelsel. Stel dat geactiveerd wordt op marktwaarde, dan weet de budgethouder niet langer waar hij aan toe is omdat ieder jaar de waarde veranderd moet worden en hij ieder jaar een ander budget krijgt teneinde de activiteiten te kunnen uitvoeren.

6) In economische theorieën bestaat de opvatting dat managers reageren op wijzigingen in standaarden voor de financiële jaarverslaggeving. Op welke wijze, zullen naar uw verwachting, managers reageren op de eventuele invoering van het baten en lasten stelsel?

Zeker. De invoering van het baten en lasten stelsel zal leiden tot vragen van “wat doen wij met de overschotten, krijgen wij extra potjes”.

Eveneens kan de situatie ontstaan dat mensen onvoorzichtiger worden, als bijvoorbeeld blijkt dat hun onderneming winst realiseert willen ze eveneens een hogere begroting hebben.

Eveneens kunnen ze zichzelf een goed salaris toekennen en de overige mensen ontslaan of aan hen minder salaris toekennen, niemand die dit ziet of doorheeft. In het bedrijfsleven doen ze dit ook.

In het kasstelsel kun je de ‘kraan’ direct dichtdraaien als het mis gaat of als het veel meer gaat kosten, dat zijn uitstekende remmen.

In het baten en lasten stelsel kunnen verschillende bedrijven gecreëerd worden die slecht renderen en die kunnen niet zomaar beëindigd worden als het mis gaat.

Nog een speeltje is het activeren van activa, daardoor ontstaat ruimte in het budget.

7) Op basis van economische theorieën reageren investeerders als individuen in de markt op gepubliceerde financiële informatie. Deze reacties kunnen heftig of zwak zijn afhankelijke van de informatiewaarde. Verwacht u dat de eventuele invoering van het baten en lasten stelsel tot een economische reactie zal leiden bij de gebruikers van de jaarrekening en dat dit effect zal hebben op de begrotingscijfers voor volgende jaren?

Bij de gebruiker zal dit tot beperkte reactie leiden, de jaarrekening en de jaarstukken hebben slechts een beperkt belang.

Belangrijker is het antwoord op de vraag of in de toekomst aan de verplichtingen kan worden voldaan. Zie bijvoorbeeld Griekenland, het rating bureau heeft het onderzoek naar het antwoord op dit soort vragen uitgevoerd en vastgesteld dat een fors begrotingstekort bestaat. Dit was niet op basis van de jaarrekening maar op basis van het antwoord op de vraag of aan de verplichtingen kon worden voldaan.

8) Voor de overheid is het cruciaal om met een budget te werken, in eerder onderzoek is vastgesteld dat met accrual based accounting een budget heel moeilijk is om mee te werken. Denkt u dat dit de belangrijkste reden is als overheid niet accrual based accounting toe te passen?

Ja, is inderdaad te ingewikkeld toe te passen, veel regels zijn daaraan verbonden die allemaal moeten worden gekend en worden toegepast. Jaarlijks moeten de overlopende posten vastgesteld worden per periode moet je vaststellen wat de ontwikkeling is van bepaalde uitgaven. Dit soort regels maken het lastiger dan het toepassen van het kasstelsel.

9) In het IFAC ( International Federation of Accountants) rapport van 2007 is gecommuniceerd dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel. En dat dit behulpzaam kan zijn bij beslissingen en dat het tot een verandering kan leiden in het beheersen door managers. Bent u het eens met dit standpunt?

Mee eens, het is begrijpelijk en heeft een betere beheersing

Overall: Als de output gerealiseerd wordt betreffende de gestelde doelen en de te leveren prestaties dan ben ik het eens dat het baten en lasten stelsel tot beter inzicht leidt in uitgaven en in inkomsten. Mensen zullen daardoor begrip krijgen over de daadwerkelijke opbrengst en de daadwerkelijke kosten.

Interview 5

Henk Schepers is werkzaam bij het Ministerie van veiligheid en justitie bij het CJB.

De Schepers is in 1990 bij PwC gestart en is in 2003 gestart bij het CJB. Bij het CJB is hij hoofd van de internal audit/ concern control.

d.d. 16-3-2012

1) Zijn de cijfers op basis van de LNV-pilot duidelijker dan die op basis van de jaarrekening?

De cijfers op basis van de LNV-pilot zijn uitgebreider en daardoor duidelijker. De jaarrekening wordt niet gelezen door een leek, voor een leek is de jaarrekening moeilijk, zelfs voor een economisch geschoold iemand. De LNV-pilot is kort en overzichtelijk.

2) Waar zou je eerder een beslissing nemen om een budget aan te passen, op basis van baten en lasten of kasstelsel?

Beide (jaarrekening en LNV-pilot) zijn eindverantwoordingen. Voor dit soort beslissingen is meer informatie noodzakelijk. Dit zijn niet de juiste instrumenten teneinde een beslissing zoals een budgetaanpassing of een investering uit te voeren.

De jaarrekening of de pilot zijn een eerste stap teneinde een indruk bij de cijfers te verkrijgen en geen stukken teneinde op basis daarvan beslissingen uit te voeren.

3) En investeringen maken (wel/niet, op basis van baten en lasten of kasstelsel)?

Zie antwoord hiervoor
4) Zou u het de moeite waard vinden te investeren in de omscholing van het personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leidt. En dat daardoor gemeenten, provincies en het Rijk gebruik maken van 1 financieel verantwoordingssysteem?

Voor Nederland heeft dit geen toegevoegde waarde. Het baten en lasten stelsel is bedoeld voor onder meer producten de overheid is niet ingesteld als organisatie en ze maken daardoor daar niet op de juiste wijze gebruik van.

Onderlinge vergelijkbaarheid is niet de moeite waard doordat divisies bestaan die totaal niet op een onderneming lijken en daardoor is het kasstelsel beter toe te passen.

De EU maakt aan de voorkant heel veel afspraken over de verslaggevingseisen. Maar als deze afspraken niet nageleefd worden gaat het alsnog verkeerd, dit is nu bij Griekenland het geval.

5) Omdat ondernemers in Nederland gebruik maken van het baten en lasten stelsel en dit systeem in het onderwijs wordt gedoceerd is in eerder onderzoek vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel. Bent u het eens met deze visie? 

Dit is goed voor te stellen, het spreekt de commerciële wereld meer aan. Het kasverplichtingenstelsel heeft geen goed ondernemingsschap doordat veel gebruik wordt gemaakt van potjes.

80% van de Nederlanders zien de jaarrekening van de overheid niet, dus waarom zou deze opgesteld moeten worden op basis van het baten en lasten stelsel, is dat de moeite waard?

6) In economische theorieën bestaat de opvatting dat managers reageren op wijzigingen in standaarden voor de financiële jaarverslaggeving. Op welke wijze, zullen naar uw verwachting, managers reageren op de eventuele invoering van het baten en lasten stelsel?

Indien een gelegenheid bestaat beide systemen naast elkaar te gebruiken, bijvoorbeeld in tijd van crisis, kan een manager de cijfers rooskleuriger presenteren dan deze zijn. Het verschuivinggevaar is meer aanwezig in het baten en lasten stelsel. Bij het kasstelsel bestaan de potjes die gevormd kunnen worden.
7) Op basis van economische theorieën reageren investeerders als individuen in de markt op gepubliceerde financiële informatie. Deze reacties kunnen heftig of zwak zijn afhankelijke van de informatiewaarde. Verwacht u dat de eventuele invoering van het baten en lasten stelsel tot een economische reactie zal leiden bij de gebruikers van de jaarrekening en dat dit effect zal hebben op de begrotingscijfers voor volgende jaren?

Dit zal een eenmalig effect hebben. Bij de invoering in het jaar zelf zullen elementen gelijk gemaakt moeten worden. Dit impliceert naar voren of naar achteren verantwoord worden teneinde de cijfers beter te laten aansluiten met de verwachting.

Bij het kasstelsel wordt eens in de 5 jaar voor investeringen een pot met geld ontvangen, bij het baten en lasten stelsel bestaan andere kasstromen als gevolg van het afschrijven.

8) Voor de overheid is het cruciaal om met een budget te werken, in eerder onderzoek is vastgesteld dat met accrual based accounting een budget heel moeilijk is om mee te werken. Denkt u dat dit de belangrijkste reden is als overheid niet accrual based accounting toe te passen?

Het is wennen elementen anders te moeten uitvoeren dan gewend in het kasstelsel. Dit is eveneens afhankelijk het type ambtenaar en de cultuur. Maar de techniek is niet ingewikkeld daardoor is uitsluitend sprake van een kwestie van wennen.

9) In het IFAC ( International Federation of Accountants) rapport van 2007 is gecommuniceerd dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel. En dat dit behulpzaam kan zijn bij beslissingen en dat het tot een verandering kan leiden in het beheersen door managers. Bent u het eens met dit standpunt?

Bepaalde ontwikkelingen/projecten hebben op basis van het baten en lasten stelsel een ander beeld dan op basis van het kasstelsel.

De gemiddelde manager (niet financieel opgeleid) zal daardoor zijn beslissingen beter kunnen uitvoeren omdat de informatie overzichtelijk en begrijpelijker is. Op basis van het baten en lasten stelsel zijn de toekomstige verplichtingen en de voordelen beter vast te stellen.

Interview 6

Frans van Schaik is werkzaam Deloitte en is IPSAS deskundige. Hij heeft vele artikelen over IPSAS gepubliceerd en is in Europa betrokken bij de invoering van IPSAS.

d.d. 30-3-2012

1) Zijn de cijfers op basis van de LNV-pilot duidelijker dan die op basis van de jaarrekening?

Tijdens de LNV-pilot zijn aan het einde van het jaar correctieboekingen toegepast teneinde de LNV-pilot te realiseren. Niet bestond de situatie dat het gehele jaar al op basis van het baten en lasten stelsel verantwoord was. Daardoor konden geen betere beslissingen uitgevoerd worden of is beter management ontstaan omdat de LNV-pilot pas achteraf is opgesteld.

Ik ben wel van mening dat de LNV-pilot beter inzicht geeft in de exploitatie dan de jaarrekening op basis van het kasstelsel.

2) Waar zou je eerder een beslissing nemen om een budget aan te passen, op basis van baten en lasten of kasstelsel?

In de LNV-pilot is IPSAS 24 niet betrokken, daardoor bestaan geen vergelijkende cijfers en is ter vergelijking eveneens geen begroting verantwoord. Indien geen vergelijkende cijfers bestaan is eveneens de trend in de cijfers niet zichtbaar. Eveneens is IPSAS 6 niet betrokken, daardoor is geen consolidatie uitgevoerd.

Doordat zoveel informatie in de LNV-pilot niet aanwezig is het niet mogelijk op basis daarvan beslissingen uit te voeren betreffende de investeringen of de begrotingen.

Eveneens op basis van het kasstelsel zou ik geen beslissingen kunnen uitvoeren.

3) En investeringen maken (wel/niet, op basis van baten en lasten of kasstelsel)?

Zie antwoord hiervoor
4) Zou u het de moeite waard vinden te investeren in de omscholing van het personeel en met meerdere systemen naast elkaar te werken als dit uiteindelijk tot 1 uniform financieel systeem in Nederland leidt. En dat daardoor gemeenten, provincies en het Rijk gebruik maken van 1 financieel verantwoordingssysteem?

Momenteel wordt op ministeries al gebruik gemaakt van 2 systemen naast elkaar. Relatief veel omscholing is noodzakelijk teneinde iedereen die het baten en lasten stelsel heeft geleerd nu gebruik te laten maken van het kasstelsel. Als beslist wordt het baten en lasten stelsel toe te passen dan leidt dat tot een opfris cursus van wat op school al is gedoceerd in plaats van echt omscholen. De omscholing zou voor de oudere generatie wel eenmalig toegepast moeten worden omdat deze al te lang van het kasstelsel gebruik hebben gemaakt. 

Het lijkt mij meer een besparing dan dat het geld kost omdat iedere schoolverlater die bij de overheid gaat werken omgeschoold moet worden en dit is dan niet langer noodzakelijk.

5) Omdat ondernemers in Nederland gebruik maken van het baten en lasten stelsel en dit systeem in het onderwijs wordt gedoceerd is in eerder onderzoek vastgesteld dat het publiek meer begrijpt van een jaarrekening welke is opgesteld op basis van het baten en lasten stelsel. Bent u het eens met deze visie? 

Ben ik het mee eens. Dit wordt veel breder gebruikt. 99% van de jaarrekeningen zijn op basis van het baten en lasten stelsel opgesteld. Daardoor begrijp iedereen met een economische achtergrond het baten en lasten stelsel beter. 

Omdat zij gewend zijn dit te gebruiken, zijn de Ministers die afkomstig zijn uit het bedrijfsleven, uit het onderwijs, uit gemeenten, of zelfs uit de Provinciale Staten beter in staat het baten en lasten stelsel te begrijpen dan het kasstelsel.
6) In economische theorieën bestaat de opvatting dat managers reageren op wijzigingen in standaarden voor de financiële jaarverslaggeving. Op welke wijze, zullen naar uw verwachting, managers reageren op de eventuele invoering van het baten en lasten stelsel?

Het risico bestaat dat in het begin meer wordt geïnvesteerd, het tekort in de investeringen wordt over een aantal jaren verdeeld.

Dit wordt voorkomen door eveneens nog op basis van het kasstelsel te rapporteren (het kasstroomoverzicht).

7) Op basis van economische theorieën reageren investeerders als individuen in de markt op gepubliceerde financiële informatie. Deze reacties kunnen heftig of zwak zijn afhankelijke van de informatiewaarde. Verwacht u dat de eventuele invoering van het baten en lasten stelsel tot een economische reactie zal leiden bij de gebruikers van de jaarrekening en dat dit effect zal hebben op de begrotingscijfers voor volgende jaren?

De investeerders in de overheid zijn degenen die staatsobligaties kopen.

Nederland betaalt al een hoger rente percentage, de Nederlandse staatsobligaties zijn al risicovoller, een hoger rendement wordt verwacht en de AAA status verdwijnt.

4 landen in de EU bestaan met een AAA status, 3 van deze 4 landen stellen hun jaarrekening op, op basis van het kasstelsel. Stel dat dit op basis van het baten en lasten stelsel uitgevoerd moet worden dan krijgen de investeerders beter inzicht in de cijfers, meer openheid bestaat en zullen deze landen hun AAA status wellicht wel verliezen.

Op basis van het kasstelsel bestaat geen transparantie waardoor weinig vertrouwen bestaat bij de investeerders. Het pensioenfonds is bijvoorbeeld één van de kwestie die verborgen worden gehouden voor de investeerders.

8) Voor de overheid is het cruciaal om met een budget te werken, in eerder onderzoek is vastgesteld dat met accrual based accounting een budget heel moeilijk is om mee te werken. Denkt u dat dit de belangrijkste reden is als overheid niet accrual based accounting toe te passen?

Alle overheden die de IPSAS toepassen hebben een jaarrekening op basis van het baten en lasten stelsel maar een begroting op basis van het kasstelsel. De begroting is niet op te stellen op basis van het baten en lasten stelsel omdat niet uitsluitend de afschrijvingen moeten worden verantwoord en toegelicht maar eveneens de investeringen moeten worden betrokken. Voor D het inzicht is het daardoor niet mogelijk uitsluitend gebruik te maken van het baten en lasten stelsel, voor de verslaggeving is het wel mogelijk uitsluitend het baten en lasten stelsel toe te passen.

Degene die betrokken zijn bij de verslaggeving door het Rijk is het Ministerie, dat verantwoordelijk is voor de begroting. Dit is een slechte combinatie en daarom bestaat bij het Rijk nog steeds niet de intentie IPSAS toe te passen.

9) In het IFAC ( International Federation of Accountants) rapport van 2007 is gecommuniceerd dat accrual based accounting (baten en lasten stelsel) betere en begrijpelijkere informatie verschaft dan op basis van het kasstelsel. En dat dit behulpzaam kan zijn bij beslissingen en dat het tot een verandering kan leiden in het beheersen door managers. Bent u het eens met dit standpunt?

Daar ben ik het 100% mee eens. Wel moeten die anders worden opgesteld dan de LNV-pilot.

Managers kunnen zeker vaststellen welke assets en liabilities ze beter kunnen gaan managen dan in het verleden, het belangrijkste zijn de pensioenen.

Nieuw-Zeeland heeft dit gewijzigd van een Defined Benefit pensioen plan in een Defined Contribution. Ze hadden meer inzicht verkregen doordat de jaarrekening was opgesteld op basis van baten en lasten en konden dit daardoor beter managen. Nieuw-Zeeland heeft vanaf 2011 een jaarrekening met een positief eigen vermogen door het beter managen vanaf 1992. De andere landen die het baten en lasten stelsel zijn gaan toepassen hebben nog wel een negatief eigen vermogen maar dat wordt verbeterd doordat het inzicht bestaat op basis waarvan beter is te managen.

Frankrijk begint in het gehele land MVA te verkopen teneinde het eigen vermogen minder negatief te laten zijn.

� Ministry of Finance, ‘Miljoenennota 2001’, Tweede Kamer, vergaderjaar 2000-2001, 27,800, no. 1 (The Hague: SDU Uitgevers, 2000), page 84


� http://www.minfin.nl/Onderwerpen/Begroting/VBTB/Introductie_en_evaluatie_VBTB


� The camel's nose is a � HYPERLINK "http://en.wikipedia.org/wiki/Metaphor" \o "Metaphor" �metaphor� for a situation where permitting some small undesirable situation will allow gradual and unavoidable worsening.


� (See: � HYPERLINK "http://nl.wikipedia.org/wiki/Publiek-Private_Samenwerking" ��http://nl.wikipedia.org/wiki/Publiek-Private_Samenwerking�)


� The EMU balance is the difference between the income and expenditure of the government (Central Government, Social Security, Care and local authorities and autonomous administrative authorities [ZBOs]) of a certain country in a certain year. Ministry of Finance
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